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Section : Part A General Intelligence and Reasoning

Q.1 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1.NPLR
" 2. YAWD

X 3.5uUQwW
X 4.PRNT

Question ID : 65497832546
Status : Answered
Chosen Option : 2

Q.2 Presently Suman is four times as old as her son. Five years ago, she was seven times
as old as her son. What is the age of her son?

Ans X 1.11years
" 2.10 years
X 3.16 years
X 4.12 years

Question ID : 65497832540
Status : Answered
Chosen Option : 2

Q.3

Select the set of classes the relationship among which is best illustrated by the given Venn diagram.

Ans 1. Mercury, Planets, Venus
2. Businessmen, Scientists, Singers
3. Spinach, Vegetables, Peach

4. Women, Swimmers, Men
Question ID : 65497832545

Status : Answered
Chosen Option : 4




Q.4 Acube is made by folding the given sheet. In the cube so formed, select the number that will be on the face opposite the

face showing the number *4°.

Ans 1,
X 2.
X 3.
x 4.

[

h Oy W

Question ID : 65497832552
Status : Answered
Chosen Option : 1

Q5 Select the figure that will replace the question mark (?) in the following figure series:

A A

~J

Ans

o 1

D

[y
=
N

Question ID : 65497832536
Status : Answered
Chosen Option : 1




Q.6 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Nervous
2. Nobility
3. Nebulizer
4. Nominate
5. Nitrogen

Ans X 1.3,4,2,5/1
o 231,524
X 3.3,51,2,4
X 4.3,1,2,54

Question ID : 65497832533
Status : Answered
Chosen Option : 2

Q.7 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?
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Question ID : 65497832541
Status : Answered
Chosen Option : 3

Q.8 In acertain code language, ‘FALSE’ is coded as ‘2141588’.How will ‘CHOICE’ be coded
in that language?

Ans o 1.24191812248
X 2. 6181921288
X 3. 24181924128
X 4. 6191812822

Question ID : 65497832547
Status : Not Answered
Chosen Option : --




Q.9 Select the number from among the given options that can replace the question mark
(?) in the following series.

1, 8,81, ?, 15625

Ans X 1.1015

X 2.1225

X 3.1227

o 4.1024
Question ID : 65497832535
Status : Answered

Chosen Option : 4

Q.10 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.
CNK:JUR::FJL:?

Ans X 1.NPR

" 2. MQS

X 3.08U

X 4.KOQ
Question ID : 65497832530
Status : Answered

Chosen Option : 2

Q.11 Select the number from among the given options that can replace the question mark
(?) in the following series.

2,10, 30, ?, 130

Ans 4 1.68

X 2.65

X 3.70

X 4.75
Question ID : 65497832549
Status : Answered

Chosen Option : 1

Q.12 If ‘A’ denotes ‘addition’, ‘B’ denotes ‘multiplication’, ‘C’ denotes ‘subtraction’, and ‘D’
denotes ‘division’, then what will be the value of the following expression?
483D23A93C16B4C(15B?2)
Ans X 1.30
X 2.78
" 3.20

X 4.55
Question ID : 65497832551
Status : Answered

Chosen Option : 3




Q.13 Select the correct mirror image of the given combination when the mirror is placed at PQ as shown.

Ans

P
CONTINUITY 1

x 1+ COUMIIMNILA
v 2 YTIUWTVOD
X YTIUNTIVIOD
x4+ COMLIMNILA

Question ID : 65497832554
Status : Answered
Chosen Option : 2

Q.14 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly

Ans

known facts, decide which of the given conclusions logically follow(s) from the

statements.

Statements:
All pens are pencils.
Some markers are pencils.

Conclusions:
I. All pens are markers.
Il. Some pens are markers.

< 1. Only conclusion Il follows
«# 2. None of the conclusions follow
2< 3. Only conclusion | follows

X 4. Both the conclusions follow

Question ID : 65497832538
Status : Answered
Chosen Option : 2

Q.15 Select the option in which the given figure is embedded (rotation is NOT allowed).

Ans

<t

171

&L

x 3.

Question ID : 65497832553
Status : Answered
Chosen Option : 1




Q.16 In acertain code language, 'lLUCKNOW' is written as 'CULKWON' and 'UDAIPUR' is
written as 'ADUIRUP'. How will 'GWALIOR' be written in that language?

Ans X 1.WGLAROI
X 2.AGWLRIO
X 3. AWGROIL
« 4. AWGLROI

Question ID : 65497832531
Status : Answered
Chosen Option : 4

Q.17 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

EIM, QUY, CGK, ?
Ans X 1.DHL
X 2.LPT
X 3.SWA
o 4.0SW

Question ID : 65497832542
Status : Answered
Chosen Option : 4

Q.18 Study the given pattern carefully and select the number that can replace the question
mark (?)in it.

341843
472 28
713361
Ans X 1.42
o 2.25
X 3.35
X 4.19

Question ID : 65497832539
Status : Answered
Chosen Option : 2

Q.19 Select the option that is related to the third number in the same way as the second
number is related to the first number and the sixth number is related to the fifth
number.

11:77::12:?::14:119
Ans o 1.90

X 2.97

X 3.83

X 4.79

Question ID : 65497832550
Status : Answered
Chosen Option : 1




Q.20 Nisha, who is Dileep's daughter, says to Deveshi, "Your mother Ritu is the younger
sister of my father, who is the second child of Krishna". How is Krishna related to

Deveshi?
Ans X 1.Paternal grandfather

X 2. Father-in-law
< 3. Father

+" 4. Maternal grandfather

Question ID : 65497832532
Status : Answered
Chosen Option : 4

Q.21 Seven doctors, S, T, U, V, X, Y and Z, are sitting around a round table, facing towards

the centre, for a case study. Y is sitting third to the right of Z and between S and X. Z is
sitting second to the right of U. V is sitting third to the left of X. Two doctors are sitting
between Y and V. Based on the given information, which of the following statements is

correct?
Ans X 1.Zis sitting between T and X.

" 2. Sis sitting fourth to the left of T.
X 3. U s sitting to the immediate right of V.

< 4. Four doctors are sitting between Y and Z.
Question ID : 65497832548

Status : Answered
Chosen Option : 2

Q.22 gtudy the given pattern carefully and select the letter that can replace the question mark (?) in it.

OO
OO

Ans

& 1LT
X 2v
X 3U
X 4.s

Question ID : 65497832534
Status : Answered
Chosen Option : 1

Q.23 M, N, L, O, Qand H are sitting in arow. Q and H arein the centre. M and N are at the
ends. L is sitting to the left of N. Who is to the right of M?

Ans X 1.N
& 2.0
X 3L
X 4.Q

Question ID : 65497832544
Status : Answered
Chosen Option : 2




Q.24 In a certain code language,‘nuk me xil’ means ‘lit this light’, ‘ki me to’ means ‘the
bright light’, and ‘nuk ki yun’ means‘ this is bright’. What will be the code for 'lit" in that
language?

Ans X 1.nuk
X 2.yun
& 3. xil
X 4.me

Question ID : 65497832537
Status : Answered
Chosen Option : 3

Q.25 Cataractisrelated to ‘Eye’ in the same way as Meniere’s disease is related to

Ans X 1.Nose
< 2. Mouth
X 3.Teeth

o 4.Ear
Question ID : 65497832543

Status : Answered
Chosen Option : 1

Section : Part B General Knolwedge and General Awareness

Q.1 The difference between the total revenue and total expenditure of the government is
called

Ans o 1. fiscal deficit
X 2. budgetary deficit
< 3.deflation
X 4. primary deficit

Question ID : 65497832561
Status : Answered
Chosen Option : 4

Q.2 Who among the following is NOT a hockey player?
Ans X 1. Ajit Singh

¥ 2. Manu Bhaker

X 3. Deepika Thakur

X 4. Akashdeep Singh

Question ID : 65497832578
Status : Answered
Chosen Option : 2

Q.3 In which macaronic language was a fourteenth-century text, the Lilatilakam, written?
Ans X 1.Rekhta

< 2. Brahmi
" 3. Manipravalam
X 4. Mozakhraf

Question ID : 65497832566
Status : Answered
Chosen Option : 3




Q.4 According to the Public Affairs Index 2020, which among the following has been
adjudged the best governed state in the country in the large states category?

Ans o 1. Kerala

X 2. Uttar Pradesh
X 3.0disha

X 4.Rajasthan

Question ID : 65497832568
Status : Answered
Chosen Option : 1

Q.5 Which of the following books is NOT authored by Shashi Tharoor?
Ans X 1. The Hindu Way: An Introduction to Hinduism (2019)

X 2. An Era of Darkness: The British Empire in India (2016)
" 3. Making India Awesome (2015)

X 4. The Paradoxical Prime Minister (2018)

Question ID : 65497832575
Status : Answered
Chosen Option : 3

Q.6 The human eye is like a camera. Its lens system forms an image on a light sensitive
screen called the

Ans X 1.cornea
X 2.iris
¥ 3.retina
X 4. pupil
Question ID : 65497832572

Status : Answered
Chosen Option : 3

Q.7 Which of the following is an example of primary activity of the economic sector of
India?

Ans o 1. Forestry
X 2. Transport
< 3. Communication

X 4. Cloth weaving

Question ID : 65497832577
Status : Answered
Chosen Option : 1

Q.8 Federalism is one of the key features of the Constitution of India, under which:
Ans X 1.The head of the government is also head of the state

X 2. states draw their authority from the Parliament
X 3.all persons in India are governed by laws and policies made by the Judiciary only
" 4. states are agents of the Federal government
Question ID : 65497832567

Status : Answered
Chosen Option : 4




Q.9 In India, National Epilepsy Day 2020 was celebrated on:
Ans o 1.17 November
X 2.28 November
X 3.25November
X 4.1 November
Question ID : 65497832564

Status : Answered
Chosen Option : 4

Q.10 is the science that studies the structure of the body.
Ans o 1. Anatomy
X 2. Cytology
X 3. Palynology
X 4. Palaeobotany
Question ID : 65497832562

Status : Answered
Chosen Option : 1

Q.11 Who among the following was PETA India's Person of the year 2019?
Ans & 1. Virat Kohli
X 2.Sonam Kapoor
< 3. Anushka Sharma
& 4.PV Sindhu
Question ID : 65497832574

Status : Answered
Chosen Option : 3

Q.12 Which of the following countries will host the 2022 Asian Games?
Ans X 1.Indonesia
" 2.China
X 3.Japan
X 4. South Korea
Question ID : 65497832576

Status : Answered
Chosen Option : 4

Q.13 Anophelesis a which carries the parasite of malaria.
Ans o 1. female mosquito
X 2.housefly

X 3. male mosquito
X 4. spider

Question ID : 65497832571
Status : Answered
Chosen Option : 1




Q.14 Which of the following countries hosted the 13th BRICS Summitin 2021?
Ans o 1. India

X 2.China
X 3.Russia
X 4. Brazil
Question ID : 65497832560
Status : Answered
Chosen Option : 3
Q.15 The is the final authority of making laws in any democratic country.

Ans X 1. Prime Minister
" 2. Parliament
X 3. Law Minister
X 4. President

Question ID : 65497832559
Status : Answered
Chosen Option : 2

Q.16 Kulik Bird Sanctuary is located in which of the following states?
Ans X 1.Andhra Pradesh

X 2. Maharashtra
X 3. Madhya Pradesh
«" 4. WestBengal

Question ID : 65497832556
Status : Answered
Chosen Option : 1

Q.17 Holt Mackenzie and Robert Merttins Bird introduced:
Ans & 1. The Mahalwari System

X 2. The Ryotwari System
X 3. The Doctrine of Lapse

< 4. The Permanent Settlement

Question ID : 65497832563
Status : Answered
Chosen Option : 4

Q.18 During which of the following national movements in Bengal was atricolour flag
designed?

Ans X 1.Khilafat Movement
< 2. Civil Disobedience Movement
" 3. Swadeshi Movement
X 4. Quit India Movement

Question ID : 65497832558
Status : Answered
Chosen Option : 3




Q.19 As of July 2021, the Ayushman Bharat Pradhan Mantri Jan Arogya Yojana (AB-PM-JAY)
was NOT implemented in the state of

Ans o 1. West Bengal
X 2.Karnataka
X 3.Punjab

X 4. Gujarat

Question ID : 65497832579
Status : Answered
Chosen Option : 1

Q.20 Which of the following festivals is celebrated during the Amavasya of the Kartik
month?

Ans X 1.Govardhan puja
X 2.Dhanteras
X 3.Raksha Bandhan
" 4. Diwali

Question ID : 65497832570
Status : Answered
Chosen Option : 4

Q.21 When agood is produced by exploiting natural resources, it falls in the category of:
Ans X 1. mining industry

X 2. service sector

" 3. agriculture sector

X 4.industrial sector

Question ID : 65497832565
Status : Answered
Chosen Option : 4

Q.22 What is NOT a specific feature of commercial farming as against subsistence farming?
Ans & 1.1tis mainly practiced in lesser developed countries

X 2. Most of the work is done by machines
< 3. The amount of capital used is large

X 4. Crops are grown for sale in the market

Question ID : 65497832573
Status : Answered
Chosen Option : 1

Q.23 How many times have Mumbai Indians won the IPL title till its 2020 edition?
Ans X 1.4

X 22
X 3.3
o 4.5
Question ID : 65497832555

Status : Answered
Chosen Option : 1




Q.24 The Bengal tiger was adopted as 'The national animal of India' in the year
Ans X 1.1978

X 2.1974
X 3.1976
o 4.1972

Question ID : 65497832569
Status : Answered
Chosen Option : 4

Q.25 Who among the following was the last Mughal Emperor?
Ans X 1. Shah Jahan

X 2. Aurangzeb
X 3. Akbar
" 4.Bahadur Shah Il

Question ID : 65497832557
Status : Answered
Chosen Option : 4

Section : Part C Elementary Mathematics

Q.1 Pand Q can together finish a work in 21 days. They worked together for 12 days and Q left. After that, P finished the
remaining work in 15 days. In how many days P alone can finish the work?

Ans 1. 28 days
2. 35 days
3. 19 days
4. 24 days
Question ID : 65497832594

Status : Answered
Chosen Option : 2

Q.2 The average height of 23 boys is 1.2 m. When 3 boys leave the group, then the average height increases by 0.15 m.
‘What is the average height of the 3 boys who leave?

Ans X1 0.5m
2 02m
X3 045m
X4 06m

Question ID : 65497832597
Status : Answered
Chosen Option : 2




Q.3 Ashopkeeper gives 10% discount on the cost of rice. A buyer could purchase 5 kg more rice for T720. Find the selling
price of rice per kg.

Ans 1. Z19
2. %12
3. %16
Z18

&

Question ID : 65497832598
Status : Answered
Chosen Option : 4

Q.4 Anexpress train travelled at an average speed of 120 km/h, stopping for 4 min after every 80 km. How long did it take
to reach its destination at the distance of 720 km from the starting point?

Ans X1 5 h45 min
X2 7h15min
+ 3 6 h 32 min
X 4. 5h24 min

Question ID : 65497832595
Status : Answered
Chosen Option : 3

Q.5 The costof levelling a circular park at ¥6.50 per m? is T36,036. What is the cost (in %) of putting a fence around it at

18 per m? (Take 1= ?)
Ans 1. 3,960
2. 4,752
3. 4,644
1. 4,716
Question ID : 65497832604

Status : Answered
Chosen Option : 2

9% The value of 20 - [7 - {4 - (8 - 6+ 3)}] is:

Ans X120
X2 2
X3 16
v 18

Question ID : 65497832587
Status : Answered
Chosen Option : 4




Q7 An article was sold at 2 of its cost price. The loss per cent is:
8

Ans X1 35
X2 275
¥ 3 37.5
X4 32
Question ID : 65497832585

Status : Answered
Chosen Option : 3

Q8 By what percentage is one-third of 90 lesser than three-eighths of 160?
Ans X1 45%
2. 50%
X 3. 60%
X4 25%
Question ID : 65497832593

Status : Answered
Chosen Option : 2

Q.9  The sum of three numbers is 172. If the ratio of the first number to the second number is 3 : 5 and that of the second
number to the third number is 7 : 6, then find the first number.

Ans 1 42

X2 30

X3 40

X4 58
Question ID : 65497832600

Status : Answered
Chosen Option : 1

Q.10 What is the least five-digit number that is exactly divisible by 21, 35, and 56?
Ans X1 10000
X 2. 10040
X 310920
« 4. 10080
Question ID : 65497832589

Status : Answered
Chosen Option : 4




Q.11 A, B and C can complete a piece of work individually in 7% days. 15 days and 30 days, respectively. A and B start
working but A quits the job after 3 days. Then C joined B and both did the work till the completion of the work. In how

many days will the whole work be completed?

Ans 112 days
2. 7 days
3. 8 days
4. 6 days

Question ID : 65497832586
Status : Answered
Chosen Option : 2

Q.12 Two numbers are in the ratio 8 : 5. If 17 is subtracted from the first number and 25 is added to the second number, then
the ratio becomes 1 : 3. What is the sum of the two numbers?

Ans X113
X2 39
3 52
X4 65
Question ID : 65497832580

Status : Answered
Chosen Option : 3

Q.13 Ifthe two numbers are, respectively. 20% and 30% less than a third number. then what percentage of the first number is

the second number?

Ans 1. 87.5%
X 2. 90.5%
X3 85.5%
X 4. 101.5%

Question ID : 65497832590
Status : Answered
Chosen Option : 1

Q.14 The amount obtained by investing a certain sum in 4% years at 12% p.a. at simple interest is 2,175 more than the
simple interest on the same sum in 11 years at the same rate. The sum (in <) is:

Ans 1. 8,400
2. 8,700
3. 8,000
4. 8,500
Question ID : 65497832603

Status : Answered
Chosen Option : 2




Q.15
The value of > + 5301ri = (3 = i) is:
14 7 19 4 7
Ans 1 0
X235
X310
x4 1

Question ID : 65497832584
Status : Answered
Chosen Option : 1

Q.16 23 oranges were bought for T193.20 and sold at the rate of T108 per dozen. Find the profit percentage correct to one
decimal place.

Ans X 1. 5.09%
X2 8.4%
3 7.1%
X4 4.5%

Question ID : 65497832582
Status : Answered
Chosen Option : 3

Q17 A cyelist covers a distance of 17 km in 2 h. His speed (in km/h) is:

Ans x 1 ]
v 2% 85
X375
X4 6.5

Question ID : 65497832588
Status : Answered
Chosen Option : 2

Q.18 Asumof? 1,800 gives a simple interest of T360 in 3 years 4 months. The rate of interest per annum is:
Ans =® 1. 8%

X2 10%

¥ 3 6%

X4 12%

Question ID : 65497832601
Status : Answered
Chosen Option : 1

Q.19 A wall clock is listed at 31,200 and the discount offered is 10%. What additional discount must be given to bring the net
selling price to T945?

ANS XL 10%
2 12.5%
X3 9.25%
x4+ 15%

Question ID : 65497832592
Status : Answered
Chosen Option : 2




Q.20 The average salary of all the workers in an organisation is ¥9,000. The average salary of § technicians is 14,000 and
the average salary of the rest is ¥5,000. Find the total number of workers in the organisation.

Ans 1 18
X215
X320
X4 23
Question ID : 65497832591

Status : Answered
Chosen Option : 1

Q.21 A person bought a table and a chair for ¥ 2,200 . He sold the table at a gain of 15% and the chair at a loss of 5%, thereby
gaining 4% on the whole. Find the cost of the table.

A X1 %1,125
X 231,050
x 331,200
¥4 %990

Question ID : 65497832599
Status : Answered
Chosen Option : 4

Q.22 A certain sum amounts to 9,900 in 4 years and to T11,700 in 7 years at the same rate per cent per annum at simple

interest. What will be the amount (in ) of the same sum at 9%% for 2% years at simple interest?

Ans X 1.9,541.50
X 2 9,165.75
X 3. 10,000.00
4 9,131.25

Question ID : 65497832583
Status : Answered
Chosen Option : 4

Q.23 The ratio of two numbers a and b is 5 : 8. If 5 is subtracted from a and 3 is added to b, then the ratio becomes 8 : 15.
What is the difference between the two original numbers?

Ans x 1 24
X 2 36
X 3. 30
4 27
Question ID : 65497832602

Status : Answered
Chosen Option : 4




Q.24 The sum of two numbers is 35 and the HCF and LCM of these numbers are 5 and 60, respectively. Find the sum of the

reciprocals of the numbers.

A
" X 1 i
25

4

15
7

60
5

Xa
60

X2

3

Question ID : 65497832596
Status : Answered
Chosen Option : 3

Q.25 Acylindrical tank is 80 cm in diameter and 5.6 m in height. The cost (in ) of painting the curved surface of the tank at
the rate of 220/m? is:

(Taken=27—2)
Ans 1. 281.60
X< 2. 301.80
X3 321.20
X4 26140
Question ID : 65497832581

Status : Answered
Chosen Option : 1

Section : Part D English

Q.1 Select the option that can be used as a one-word substitute for the given group of
words.

The branch of biology that deals with the relations of organisms to one another and to
their physical surroundings.

Ans X 1.Anthropology
«" 2. Ecology
X 3. Gerontology
X 4. Morphology
Question ID : 65497832618

Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate option to fill in the blank.
Itis adisorder that manifests usually in middle
Ans X 1.ages
«" 2. age
X 3.life
X 4. year
Question ID : 65497832622

Status : Answered
Chosen Option : 2




Q.3 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Lack of calcium in human body usually leads against several health complications.
Ans o 1. leads against

X 2.several health complications

X 3. Lack of calcium

< 4.in human body

Question ID : 65497832616
Status : Answered
Chosen Option : 1

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Sharada was cooking lunch /when | am going / to give her / the mobile phone.
Ans X 1. Sharada was cooking lunch
X 2.togive her
< 3. the mobile phone
" 4. when | am going
Question ID : 65497832605

Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate meaning of the given idiom.
Having a soft spot for
Ans X 1.Being too ridiculous
X 2. Having soft skin
«" 3. Being fond of
X 4.Being angry
Question ID : 65497832615

Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate ANTONYM of the given word.
Ignorance
Ans & 1. Knowledge
X 2. Truth
X< 3.Innocence

X 4. Virtue

Question ID : 65497832619
Status : Answered
Chosen Option : 1




Q.7 Select the option that can be used as aone-word substitute for the given group of
words.

Someone who buys and sells goods in large amounts to shops and businesses
Ans & 1. Wholesaler
X 2. Merchant
X 3. Supplier
X 4.Dealer

Question ID : 65497832608
Status : Answered
Chosen Option : 1

Q.8 Select the most appropriate synonym of the given word.
Coincidence
Ans X 1.Extent
& 2. Accent
" 3.Chance
X 4.Incident

Question ID : 65497832617
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Leopards and cats are belong to the same family of animals.
Ans X 1.No substitution required
" 2. belong
X 3.belongs
X 4. belonging
Question ID : 65497832624

Status : Answered
Chosen Option : 2

Q.10 Select the option that will improve the underlined part of the sentence. In case no
improvement is needed, select ‘No improvement required’.

Neglected for along time, the ancient monument needs immediate restoration.

Ans X 1. Neglecting from along time
" 2. No improvement required
X 3. Having neglect for a long time

X 4. Neglected in the long time

Question ID : 65497832609
Status : Answered
Chosen Option : 2




Q.11 Select the most appropriate option to fill in the blank.
An important of education is to develop character.
Ans X 1.scheme
" 2. purpose
X 3.means
X 4.image
Question ID : 65497832610

Status : Answered
Chosen Option : 2

Q.12 Select the most appropriate meaning of the given idiom.
To be on pins and needles
Ans & 1. To be in an agitated state of suspense
< 2. To sit on a box of pins
X 3. To be attacked from both sides
X 4. To avoid making a decision
Question ID : 65497832620

Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Mala’s voice is much more melodious to Gita.
Ans  «# 1. much more melodious than Gita’s

< 2. much melodious to Gita’s
< 3. much more melodious to Gita’s
< 4. No substitution required
Question ID : 65497832606

Status : Answered
Chosen Option : 1

Q.14 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The eldest / prince is / the heir / of the throne.
Ans & 1. of the throne
X 2. The eldest
X 3.the heir

X 4. princeis

Question ID : 65497832611
Status : Answered
Chosen Option : 1




Q.15 Select the most appropriate option to fill in the blank.
He was in of the costumes for the play.

Ans o 1. charge

X 2.care

X 3.duty

X 4. responsibility

Question ID : 65497832623
Status : Answered
Chosen Option : 1

Q.16 Select the most appropriate ANTONYM of the given word.
Damage
Ans X 1. Hurt
X 2.Ruin
X 3.Harm
«" 4. Mend

Question ID : 65497832612
Status : Answered
Chosen Option : 4

Q.17 Select the option that can be used as a one-word substitute for the given group of
words.

One who cannot be changed or reformed
Ans X 1.Invincble
X 2.Inevitable
X 3.Incapable
" 4. Incorrigible

Question ID : 65497832613
Status : Answered
Chosen Option : 4

Q.18 Selectthe INCORRECTLY spelt word.
Ans & 1. Magnificant

X 2. Gregarious
< 3. Commitment
X 4. Persuasion

Question ID : 65497832614
Status : Answered
Chosen Option : 1

Q.19 Selectthe INCORRECTLY spelt word.
Ans X 1.Unassuming

X 2. Unflappable
< 3. Unruffled

" 4. Unannimous

Question ID : 65497832621
Status : Answered
Chosen Option : 4




Q.20 Select the most appropriate synonym of the given word.

Mirth
Ans o 1. Delight

X 2. Joint
X 3.Scene
X 4.View

Question ID : 65497832607
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Atic is arepeated, impulsive action, which an actor feels powerless (1) or avoid. Only
when the individual performs the tic, is tension and anxiety (2) , within the individual
with a tic disorder. Tics can be (3) by an emotional state or sensation, and can happen
for no obvious reason. General types of tics (4) verbal tics, facial tics and (5)
muscular tics.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans X 1.controls

< 2. controlling
¥ 3. to control
X 4. controlled

Question ID : 65497832626
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Atic is a repeated, impulsive action, which an actor feels powerless (1) or avoid. Only
when the individual performs the tic, is tension and anxiety (2) , within the individual
with a tic disorder. Tics can be (3) by an emotional state or sensation, and can happen
for no obvious reason. General types of tics (4) verbal tics, facial tics and (5)
muscular tics.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans X 1. modified

X 2. stored
X 3.added
o 4.released

Question ID : 65497832627
Status : Answered
Chosen Option : 2




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Atic is arepeated, impulsive action, which an actor feels powerless (1) or avoid. Only
when the individual performs the tic, is tension and anxiety (2) , within the individual
with a tic disorder. Tics can be (3) by an emotional state or sensation, and can happen
for no obvious reason. General types of tics (4) verbal tics, facial tics and (5)
muscular tics.
SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans X 1.done
X 2.began

& 3.triggered
X 4. elicited

Question ID : 65497832628
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Atic is arepeated, impulsive action, which an actor feels powerless (1) or avoid. Only
when the individual performs the tic, is tension and anxiety (2) , within the individual
with a tic disorder. Tics can be (3) by an emotional state or sensation, and can happen
for no obvious reason. General types of tics (4) verbal tics, facial tics and (5)
muscular tics.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans & 1. include

X 2.included
X 3.including
X 4.includes

Question ID : 65497832629
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Atic is a repeated, impulsive action, which an actor feels powerless (1) or avoid. Only
when the individual performs the tic, is tension and anxiety (2) , within the individual
with a tic disorder. Tics can be (3) by an emotional state or sensation, and can happen
for no obvious reason. General types of tics (4) verbal tics, facial tics and (5)
muscular tics.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans X 1.the other

X 2. others
X 3.another
o 4. other

Question ID : 65497832630
Status : Answered
Chosen Option : 4

Section : Part D Hindi



Ql Iasy-AF T fas Pauwew a4 fas  sTaga oI
@AW Bl
Ans xl,‘g@
X2 a4
X 3. f3ny
o 4. DTy

Question ID : 65497832650
Status : Not Answered
Chosen Option : --

Q2 P M g1 AT WiRNTwdasm s Pasyluasa & Pauagsw sug 4 g s1Ta &

Ans X 1.¢H
X249 <»ThoTd
X 3.foFa
o 4. TH
Question ID : 65497832649

Status : Not Answered
Chosen Option : --

Q3 TP D W P W S B ST 4o108TN

T @l Ha 75 S13Y 4
FATE-Ans X 1.9 =STH &1
HRA
X 2. PedfidisemaRT B
o 3.3 <STRE W FoladR Hol HRAT
X 4 FoIHA T AT HAT

Question ID : 65497832645
Status : Not Answered

Chosen OBtion D -
Q4 e g ar HTag UNT1-Td + o w1 1,00 31 Rg o1 . Pe a8t 8, @t &g
e ad ggal
W TS (1)\ HT R 3H IR (2)\ FHAA HAE (3)\ BIs TP e e
(@Ans X 1.1
X 24
o 3.2
X 4.3

Question ID : 65497832631
Status : Not Answered
Chosen Option : --




Q.5 GWL,SHTF-ﬁiﬁ
Tgg-109T-Ans X 1.
ESjific

o 2. NRATD

X 391

X 4. 3TeiifoadT

Question ID : 65497832646
Status : Not Answered

Chosen OBtion | --
Q6 ey & faaww H1IgT H-
% U
Ans X 1. HER
X 2.7e
o 3. 0741
X 4.31qg
Question ID : 65497832634

Status : Not Answered
Chosen Option : --

Q.7 Y5 X HI UgH-T-
Ans X 1. g

X 2 Tt

o 3. g

X 4. FoTTHH

Question ID : 65497832647
Status : Not Answered
Chosen Option : --

Q8 fgmmuw w1 gww I
T
Ans X 1.3y
o 2. TR
X 3. 3T
X 4. ST

Question ID : 65497832639
Status : Not Answered
Chosen Option : --

Q9 fi3u MUY HTIHFEIY I FdIsU-

R
Ans X 1. TYHT
o 2.f5T

X 3T
X 4739
Question ID : 65497832632

Status : Not Answered
Chosen Option : --




Q.10 ﬁqmmﬁi@ﬁﬁmaﬁuﬁmﬁamﬁ%ﬁqaﬁmﬁmmmﬁl
sﬁ?{wﬁamﬁaﬁmaﬁ% , al ey fedt agama &t sravgear & ¥
BT 9T DY

T Herl veredt aaf g R 21
Ans p 1 gRIfordl Wi B
X 2. 3faE g
X 3. ot aoaE @t saxadmar Tel 8
X 4 srRifa@ g

Question ID : 65497832638
Status : Not Answered
Chosen Option : -

Q.1 e wIF #1 gfe & g wad Suged Wi &1 9a= B3
T, B auEd A g
Ans X 1. SFH
o 2. I
X 3. G
X 4 wng

Question ID : 65497832637
Status : Not Answered
Chosen Option : -

Q.12 3if@ ¥ B iR T - 3R =1 ufvea dfe-
Ans X 1 fparat

X 2. faswu &t

3. dTH @Bt

X 4 T DHI

Question ID : 65497832643
Status : Not Answered
Chosen Option : -

Q.13 39 Rieey o1 997 oY 5 P geray o1 98 orf arga Fvar 1
S & o U
Ans X 1 3fafud gl
X 2. R Ed &
2 3. ot U A
o 4. W3 U@ § S H @

Question ID : 65497832640
Status : Not Answered
Chosen Option : -




Q.14 %qﬂqamaﬂa'g YT B R o IR 2 R P R R AP R @Y
I

Ans

T 1T F (1)) Fearor ¥ R (2)\ T Qe 1 AT (3) B IR TR R (4)

X 1.4
xX22
y*AH
& 4.3

Question ID : 65497832633
Status : Not Answered
Chosen Option : —

Q.15 =irg feran g T arear™r & forg v =g B -

Ans

X 11U
X 2™
& 3.CT@
X 43S

Question ID : 65497832648
Status : Not Answered
Chosen Option : —

Q16 f3g T areaT & forg uw weg #-

Ans

R 12 ofT IR & T Al
X 199
X 2 puiftd
o 3. fadanT
X 4.9y

Question ID : 65497832636
Status : Not Answered
Chosen Option : —

Q.17 {3 71e 9 & YEied @ o ufawiiitd o+ & fore wes Suged fawen o1 9a9 #31
Tfe 3 vforenfia 37 &1 sraxa®ar 18 €, o ey 5t agae ot saasar T8 &

Ans

BT B

TS & ST wed e faren wity Anfh
< 1. Y faeq wife gRft
X 2.9/ faeg wifta gt
X 3. ot aeara ot siavaddl T8l 21
o 4. Bad fae wift g

Question ID : 65497832642
Status : Not Answered
Chosen Option : —




Q.18 fyaa ®IF F1 gfe F forg e Suged v &1 999 B

Ans

g 1 fawa & 6 g 3w & sF® HeTywy ENI

X 1.gH
X 2 Jufga
& 3.7

X 4. 9EE

Question ID : 65497832641
Status : Not Answered
Chosen Option : —

Q.19 RiET - YETfrd e T Uaarh S H-91 9 T8 8-

Ans

X 1981
X 2. ueft
& 3 FEd
X 4@

Question ID : 65497832644
Status : Not Answered
Chosen Option : —

Q.20 3w T T/ & fore ue v B-

Ans

Sl U € AT F S A SUA ¢ AN-
X 1. e

X 2. §Hg
X 3. GHaT

o 4. TBleX

Question ID : 65497832635
Status : Not Answered
Chosen Option : -

Q.21
Ans

Comprehension:

T T T 7 ¥ $9 Wk gl faU MU &1 afiid Ul H Udd e & foY Yed 3ugdd fddey
BT 9G B

ARG W o 3T i ©, ST el (1) Bia1 3 39 Us Y die TRaa & &
e gs Us d@ ugaHI (2) R 81 9F SiReH ¥ Sad: AIRGd dig- & H1F &= aral
Placd | (3) 1t 5gd &H A 81 3 (4) Y fIRBR B T oI o ar
HEZGE: aiat-ﬂnwumag?,l I8 Iad disd & fad (5) AT w81 8RN

T 931 @1 B TET 31 38 TRAA AledR dF @I 7T &1 & foe Tpa M E@ia M gl

SubQuestion No : 21
e ¥ fYaq =i (1) F e waifte Suged e 8-
& 1. DA

X 2. Wd
X 3. 959
X 4. 3EhH

Question ID : 65497832652
Status : Not Answered
Chosen Option : —




Q.22
Ans

Comprehension:

mmn%mﬂéWWWMW%lmmﬁmm%ﬁmmWﬁm
Lakue

e GHT fordHT 33T il 8, SaTal (1) am%sﬂﬂs%m:mawﬁ
TGS VS TP UG () WR eI o SiiH # SIaid A1Rad die & HIH b drat
Pl acd | (3) 1 dgd & fadl 21 330t (4) T RS Bs alvT o o Far

B Ha 319 AN 962 UId 36 g | 3 IRgd dle- & 1ol (5) e S8 TR

T 931 @1 Bl T8 31 3% TRAA dAlsdR aF @I RT3 & fow Tpa M wia me g

SubQuestion No : 22
e & e I (2) ¥ o waifte suges weg 8-
X 1. a
& 2.3
X 3.3
X 4.l

Question ID : 65497832653
Status : Not Answered
Chosen Option : -

Q.23
Ans

Comprehension:

TRT T e 7 ¥ $9 Weg gl AU T &1 Wl Uil 7 YD G & for e Iugad faded
P19 BRI

TR W fSa T SrST Il 8, SaT el (1) eldl & 39 Us A die igd & 3d
Qe s dd UgaI(2) @R el SIF S § SIad: AIREd dig- Bl & & dral
Dlecdd(3) Mg oA Mad el san@)_ O PR og ol o o dar
TR H N SR U R eI I TRTAdls i b U (5) AW ®IgI gar
963 B Bl T8 B 3¢ ARG ASHR A Bl 2T S B T Tt it W TR

SubQuestion No : 23
T & e I (3) ¥ o waifie suge o= 8-
X 1. AEd
o 2. Toigd
X 3.3
X 4. U=

Question ID : 65497832654
Status : Not Answered
Chosen Option : -




Comprehension:

RU T T 7 ¥ $9 Vek Bl AU 1T &1 Wafld Uil 7 Ul Go & fou el Iugad faded
&1 99 DI

e G fordT 33T Tl &, STl (1) BT 8 39 Us ¥ disn Aifad & S
e g3 Us d@ ug el (2) R 81 9F SifeH 7 S1a®: AIRGd dig- &l &1 &= aral
Dl gcd F (3) 1t 9gd A e 81 390 (4) T IR B3 ol o i 3far

B 1 HRa T 3(d AN 962 UIdl 36 g1 3= IRgd dle- & 1ot (5) fear S @I 81 3R

T 931 @1 B T8 1 3% TRAA dlsdR aF @I RT3 & fow Tpa M wid e gl

SubQuestion No : 24

Q.24 T ¥ fYed Wi (4) & fore waifie Suged weg Em-
Ans X 1. TR

o 2. 3a%

X 3.4

X 4. Teg

Question ID : 65497832655
Status : Not Answered
Chosen Option : —
Comprehension:

Q.25
Ans

R e TR 7 ¥ $@ Weg gl AU T &1 Wl w7 ude wem & o el Sugad faded
B 9T DY

Tad WA I 31T T &, S 8t (1) Bldl & 39 Us ¥ dten TiRad & o
WY g3 Us d@ Ugdl (2) WR 81 9H SifgH # SIaa: AIRad die- &I HH & aral
@l 9&d # (3) 2t 9gd & fierd 81 3a1 (4) Y fRaR &3 aiT o o ar

T1 P T 3d N 962 UId 38 &1 3 ARG dle- & fo (5) fear ST 31 g

H e Bt I TS 31 3% NG dlSdR aF Bl ST & & o wpa W Gid M R

SubQuestion No : 25

e & e ®IF (5) ¥ o waifie suge weg 8-
x 1. fae™
o 2. UiRIe
X 3. BRE

X 4. SrRe

Question ID : 65497832656

Status : Not Answered

Chosen Option : -
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Section : Part A General Intelligence and Reasoning

Q.1 Select the number from among the given options that can replace the question mark
(?) in the following series.

34,37, 42, 49, 60, 73, 90, ?
Ans 4 1.109
K2.119
X 3.117
X 4.99

Question ID : 65497828214
Status : Answered
Chosen Option : 1

Q.2 ‘Suva’isrelated to ‘Fiji’ in the same way as ‘Helsinki’ is related to * .
Ans X 1.Greece

& 2.France
" 3. Finland

X 4. Hungary

Question ID : 65497828234
Status : Not Answered
Chosen Option : --

Q.3

Select the correct mirror image of the given combination when the mirror is placed at the right side.

BYumgd

“"bpmuASg
“bpmnyY8
“PpmuYd
“"bpmuY8d

Ans

Question ID : 65497828215
Status : Answered
Chosen Option : 4




Six friends A, B, C, D, E and F are sitting in a straight horizontal line facing
the north.Four persons are sitting between E and C. D is sitting between A and
F. Ais to theimmediate right of E. Who is sitting to the immediate right of F?

Ans X 1.C
X 2.D
«3.B
KOAA
Question ID : 65497828235
Status : Answered
Chosen Option : 3
N has two children S and P. N's wife J is the only sister of M's mother.
R is M'smaternal grandfather. How is R related to N?
Ans X 1.Son-in-law
/< 2. Father
«# 3. Father-in-law
25 4. Uncle
Question ID : 65497828232
Status : Answered
Chosen Option : 3
Select the dice that can be formed by folding the given sheet along the lines.
Ans @1 OnlyA,Band C
X2 OnlyBandD
X3 OnlyAand B
X4 A B,CandD
Question ID : 65497828228
Status : Answered
Chosen Option : 4
The sum of the present ages of afather and his son is 58 years. Four years
ago, theratio of their ages was 4 : 1. What is the present age of the father?
Ans X 1.35years
o 2. 44 years
< 3.38years
X 4. 40 years

Question ID : 65497828219
Status : Answered
Chosen Option : 2




Q.8 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

r_xl_q__x_pd_e_lp_
Ans o l.ep,relrnxq
X 2.pernplnxq
X 3exaqrnplxp
X 4.peaqlxnprq
Question ID : 65497828222

Status : Answered
Chosen Option : 1

Q9 Iufad HTTAR, PTFdTI N G I T FaU R, N gW EH AR 7
LARGE : MASHE :: WATER :
Ans X 1.VAUES
X 2.VBSFQ
«” 3. XAUES
X 4.XBUFS

Question ID : 65497828230
Status : Answered
Chosen Option : 3

Q.10 Select the number from among the given options that can replace the question mark
(?) in the following series.

14, 29, 57, 115, 229, ?
Ans X 1.457
< 2.463
< 3.461
o 4.459

Question ID : 65497828223
Status : Answered
Chosen Option : 4

Q.11 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans  * 1. TXBFK
< 2. YDINS
& 3.BGLQV
X 4.PUZEJ
Question ID : 65497828212

Status : Answered
Chosen Option : 1




Q.12 In the following diagram, the 'thombus' stands for 'teachers', the 'circle’ stands for 'social servants', and the 'pentagon’'
stands for 'females'. The numbers given in the different segments represent the number of persons of that category.

P

\/

How many female teachers are also social servants?
Ans 1. 24
o 2. 10
X309
X 415

Question ID : 65497828236
Status : Answered
Chosen Option : 2

Q.13 Select the figure from among the given options that can replace the question mark (?) in the following series.

(e

S

x 2.

N
17

-~

Ans

Question ID : 65497828224
Status : Answered
Chosen Option : 3

Q.14 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

GQT,ETP,CWL, AZH, ?
Ans X 1.YBD

& 2.YCD

< 3.zCD

< 4.YCE

Question ID : 65497828233
Status : Answered
Chosen Option : 2




Q.15 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

Ans

(o} e] Q0
K1 (o}e] o0

C0| (0O

X4 oo oo

o0

Question ID : 65497828220
Status : Answered
Chosen Option : 2

Q.16 Select the number-triad in which the three numbers share a different relationship from
that shared by the three numbers in the rest of the number-triads.

Ans X 1.(13,39, 65)
X 2.(19,57, 95)
& 3.(23, 69, 105)
X 4.(17,51, 85)

Question ID : 65497828218
Status : Answered
Chosen Option : 3

Q.17 Select the option that is related to the third number in the same way as the second
number is related to the first number.

7:342::9:7?
Ans 25 1.329
o 2.728

< 3.327
5 4.729

Question ID : 65497828226
Status : Answered
Chosen Option : 2




Q.18 In acertain code language, 'FRY' is coded as '147' and 'CROP' is coded as '208'. How
will 'MUSIC' be coded in that language?

Ans X 1.295
X 2.385
X< 3.199
o 4.325

Question ID : 65497828213
Status : Answered
Chosen Option : 4

Q.19 In acertain code language, 'SHIMLA" is written as 'TILQQG" and 'RANCHI" is written as
'SCQGMO'. How will 'MUMBALI' be written in that language?

Ans X 1.O0WQEEP
" 2.NWPFFO
X 3.NXQEFP
X 4. MXPEFP

Question ID : 65497828216
Status : Answered
Chosen Option : 2

Q.20 In acertain code language, CHEAP is written as QBFID. How will QUOTE be written in
that language?

Ans X 1.RVNUF
X 2.ETOUQ
X 3.UOQET
" 4. FUPVR

Question ID : 65497828231
Status : Answered
Chosen Option : 4

Q21 I NTE SIS, T - AP Tl oS IRAYF HH U TA T |
L Eq
i, 3P
iii. Bl
iv. aeT
v. e

Ans X 1.ii,v,iv, i, iii

& 2.v, i, iv, i, iii

X 3. i, il iv, v

X 4o, v, i, i, i
Question ID : 65497828221

Status : Answered
Chosen Option : 2




Q22 Select the option that is embedded in the given figure (rotation is NOT allowed).

L AL
AT

Question ID : 65497828229
Status : Answered
Chosen Option : 2

Q.23 Eight friends, Arvind, Priya, Kunal, Kajal, Ashish, Mahak, Shubham and Riddhi are
sitting around an octagonal table, facing the centre. Kunal is between Mahak and
Ashish. Kajal is between Priya and Arvind. Shubham is to the immediate left of Riddhi.
Arvind is third to the right of Ashish. Who is sitting between Riddhi and Priya?

Ans X 1.Ashish
X 2. Arvind
X 3.Kajal
«" 4. Shubham

Question ID : 65497828225
Status : Answered
Chosen Option : 4

Q.24 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All leaders are males.
Some students are leaders.

Conclusions:
I. Some students are males.
II. All leaders are students.

Ans  «# 1. Only conclusion | follows
X 2. Both conclusions | and Il follow
< 3. 0nly conclusion Il follows

X 4. Either conclusion | or Il follows

Question ID : 65497828217
Status : Answered
Chosen Option : 1




Q.25 If 4+’ means ‘“=’, ‘=" means ‘x’, ‘x’ means ‘+’, and ‘+’ means ‘+’, then what will be the
value of the following expression?

9-9+72%x4+6
Ans X 1.27

X 2.29

X 3.98

o 4.93

Question ID : 65497828227
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness

Q.1 Inertia can be measured by its
Ans X 1.force

X 2. state of motion
" 3. mass

X 4. acceleration

Question ID : 65497828252
Status : Answered
Chosen Option : 4

Q.2 Which ministry/institution has released the Provisional Estimates of National Income
for the financial year 2019-20, both —at Constant Prices (2011-12) and Current Prices?

Ans & 1. National Statistical Office
X 2.NITI Aayog
X 3. Ministry of Home Affairs

X 4. Finance Commission

Question ID : 65497828245
Status : Answered
Chosen Option : 1

Q.3 The dam is built across the Subarnarekhariver.
Ans X 1.Bhairwa

X 2. Malay

X 3.Barhi

" 4. Chandil

Question ID : 65497828260
Status : Answered
Chosen Option : 4

Q.4 Which among the following is NOT a participant at the 2020-21 Hero Indian Super
League?

Ans X 1.0disha FC
& 2. Kochi FC
X 3.Jamshedpur FC
X 4.Bengaluru FC

Question ID : 65497828244
Status : Answered
Chosen Option : 3




Q5 YRAUGs REaT Pl yRI3s4_ Fafaud gl
Ans X 1.4% TR A IsIR & A es
X 2. 3URUIIRA & foau s
X 3. fowd Do &1 TR sirard a1 gwg &1 WY o g@reR TER) aged

o 4. DFH MBI A o YT FRA & I54 I 39 HEal W §H B 1 39 W
STRIT 4 TABT TNT HRA

Question ID : 65497828258
Status : Answered
Chosen Option : 1

Q.6 What was the maiden name of Begum Nur Jahan?
Ans X 1. Padmavati

X 2. Indira Kanwar
" 3. Mehr-un-Nissa
X 4. Harkha Bai

Question ID : 65497828254
Status : Answered
Chosen Option : 3

Q.7 W,|TE 2021 7, ®1 2019 % fauzheat 4.1e, 9 R g sweedt ta
4-Ye,qH | 3% § W (Differently Abled Sportsman of the Year) & U | ATl Ha
fowar mar ar

Ans o 1 TG YITd
X 2. 4HE R AF
X 3.fgaw Paer
X 4. Rmd P AR

Question ID : 65497828261
Status : Answered

Chosen OBtion 14

Q.8 Who was the winner of ‘The Hindu Prize 2019’ in the category of Fiction?
Ans X 1.Neelum Saran Gour

X 2. Anuradha Roy
¥ 3. MirzaWaheed
X 4. Amitabha Bagchi

Question ID : 65497828253
Status : Answered
Chosen Option : 1

Q9 Y-RATI ¥oid 9% AP U TaW, 1934 B YR & M AR, ax praftay  awfi
P TP AN TN I FIUWACGRR T §o
Ans X 1.25
o 2.22
X 3.20

X 4.32

Question ID : 65497828242
Status : Not Answered
Chosen Option : --




Q.10 Who among the following is the author of the book '"Maun Muskaan Ki Maar'?
Ans o 1. Ashutosh Rana

X 2.Jugal Hansraj

X 3.Uday Chopra

X 4. Ronit Roy

Question ID : 65497828239
Status : Answered
Chosen Option : 2

Q.11 Who among the following is a shot put player from India?
Ans X 1. Vikash Thakur

" 2. Tajinderpal Singh Toor
X 3.Deepak Lather

X 4.Jeremy Lalrinnunga

Question ID : 65497828240
Status : Answered
Chosen Option : 2

Q.12 World Philosophy Day is celebrated each year on the third of November.
Ans & 1. Thursday

X 2. Saturday

X 3. Friday

X 4. Monday

Question ID : 65497828248

Status : Not Answered
Chosen Option : --

fPaurmsagrAns X 1.a
X 2.9
X 3.9R
o 4.8%
Question ID : 65497828256

Status : Not Answered
Chosen Option : --

Q.14 The Government of Indiarevised the National List of Essential Medicines (NLEM) in
September 2021 by adding drugs and deleting some.

Ans X 1.27
X 2.42
X 3.16
o 4.39
Question ID : 65497828259

Status : Answered
Chosen Option : 2




Q.15 Who was the viceroy of India when Arya Samaj was founded by Swami Dayananda
Saraswati?

Ans o 1. Lord Northbrook
X 2. Lord Curzon

X< 3. Lord Lansdowne
X 4. Lord Dalhousie

Question ID : 65497828247
Status : Answered
Chosen Option : 2

Q.16 % U F I ARM P! <> T T oIl &, il IR BHA (garden crops) — AT
Baaf—= O aR geoEd 1§ gl ua g2

Ans o 1 SEIEHT (Horticulture)
2 2. 33" Hle-uTaH (Sericulture)
X 3. UH-THER (Permaculture)

X 4.90% 3 (Floriculture)

Question ID : 65497828238
Status : Answered
Chosen Option : 1

Q17 b yw fsytadi®dr Holad s & T Twe-r’ DT ok &% A aa s1 3w g |
Ans X 1. Rygar & Hifos® Afcd
X 2. PavoreRt Hifed
X 3. Afse At
o 4. IS AT
Question ID : 65497828249

Status : Answered
Chosen Option : 4

Q18 9 @ s AP W MU5sW R TP - g, Porw ST R
IR o A1 @1 8 3R 3 WURUaan Fd W F U U Ug=dhR M T'Hard &
AIY Hd §?

Ans X' 1.dT (Jhoola)
X 2.Qf>TST (Kheliran)
X 3. "X (Jhumar)
o 4.9 (Chaiti)
Question ID : 65497828250

Status : Answered
Chosen Option : 4

Q.19 R¥fs=MAT BT YT (Dhenka) TH @ifr T q104T Bl
Ans X 1.f3SIHH (idiophone)
& 2.8 B (chordophone)
X 3. WP (aerophone)
X 4.9 >A®HE (membranophone)
Question ID : 65497828237

Status : Not Answered
Chosen Option : --




Q.20 Which of the following statements is NOT true regarding brain fingerprinting?

Ans X 1. Brain fingerprinting is also known as Brain Electrical Oscillation Signature Profiling
(BEOSP).

" 2. The testinvolves a question answer session with the accused.

X 3. Thetestis carried out by electroencephalogram, to study the electrical behaviour of
the human brain.

X 4. Information or material discovered during the tests can be made part of the evidence.

Question ID : 65497828257
Status : Answered
Chosen Option : 3

Q.21 Narayana Guru, one of the great social reformers of the 19th century, was born in the
state of .

Ans X 1.Karnataka
X 2.WestBengal
X 3.Assam
o 4.Kerala

Question ID : 65497828243
Status : Answered
Chosen Option : 2

Q.22 g 3R Ui 3t ¥ & g gedA-Tat, /> - W, F o, uPuar Dasween, 9,9y <o TasyT, 994 iR
T TG & THY P71 31497 1 HEATIT 87

Ans X 1. QST (pomology)
X 2. 8P Ardrsit (lichenology)
X 3.f239 “JdTel (synantherology)
o 4. PHEINIE] (phenology)

Question ID : 65497828246
Status : Answered
Chosen Option : 1

Q.23 As of March 2021, which Indian state stands first in Jute production?
Ans o 1. West Bengal

X 2.Assam
X 3.Jharkhand
X 4. Tripura

Question ID : 65497828241
Status : Answered
Chosen Option : 1

Q.24 Which of the following is India’s first indigenously developed vaccine developed by
Serum Institute of India in collaboration with the Bill and Melinda Gates Foundation
and PATH?

Ans X 1.Varicella
X 2.Cholera
" 3. Pneumosil
X 4. Anthrax

Question ID : 65497828251
Status : Answered
Chosen Option : 4




Q.25 Which of the following Indian slums is one of the world's largest slums?
Ans X 1.Bhalswa

X 2.Basanti
¥ 3. Dharavi
X 4. Nochikuppam

Question ID : 65497828255
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics

' ThercMm of% and% is:
Ans X1 7

o2 18

X3 10

X4 6

Question ID : 65497828274
Status : Answered
Chosen Option : 2

Q.2 A’s monthly salary is 20% more than B’s monthly salary. C’s monthly salary is 25,000 more than B’s monthly salary.
Their total monthly salary is ¥2,65.000. The salary of C is what percentage more than that of A’s salary?

Ans

X1 135%

X2 19%%

73 11§%

xa 5%%

Question ID : 65497828264
Status : Answered
Chosen Option : 3

o2 If 782 is divided in the ratio of % - 2 : %, then the first part will be:

Ans 1204
X2 144
X3 156
X4 324
Question ID : 65497828276

Status : Answered
Chosen Option : 1




Q.4 Ashopkeeper purchased some material f or T800, of which 40% was sold at a loss of 10%. To obtain a gain of 12%, the
percentage profit on the remaining goods must be:

Ans 1
X1 262%

X2 12%
3 26%%

3
xa 26%%

Question ID : 65497828279
Status : Answered
Chosen Option : 3

Q.5 For doing a certain work, the efficiencies of A, B and C are in the ratio 2 : 3 : 5. Working together, they can complete
the same work in 15 days. B and C can complete 80% of the original work in:

Ans 1. 15 days
2. 18 days
3. 20 days
4. 12 days
Question ID : 65497828285

Status : Answered
Chosen Option : 1

Q.6 The sum of the radius of the base and height of a solid cylinder is 17 cm. If the total surface area of the solid cylinder is
748 em?, then the height of the cylinder is:

Ans X1 12 cm
X2 15cm
X3 14cm
« 4 10 cm

Question ID : 65497828268
Status : Answered
Chosen Option : 4

Q.7 Atrain X of length 345 m running at 50 kmv/h crosses another train Y running at 76 kmv'h in the opposite direction in 22
seconds. Train Y will cross a bridge of length 905 m in:

Ans X1 54 seconds
X 2. 56 seconds
X 3. 52 seconds
+ 4. 63 seconds

Question ID : 65497828286
Status : Answered
Chosen Option : 4




Q-8 On what sum will the simple interest at a rate of x % p.a. in x years will be T x ?

Ans X1 Zx/100
X2 2100x
+ 3 2100/ x
X4 Zx

Question ID : 65497828277
Status : Answered
Chosen Option : 3

Q.9  The profit earned after selling an article for 5,800 is the same as the loss incurred after selling the article for ¥2,200.
The profit (in3) is:

Ans 1. 2,100
2. 1,500
3. 1,200
4. 1,800

Question ID : 65497828265
Status : Answered
Chosen Option : 4

Q.10 The income of A is 80% more than that of B, and the income of C is 25% more than 20% of the combined incomes of A
and B. By what percentage is the income of C less than the income of A? (Correct to one decimal place)

Ans 1. 61.1%
X2 82.8%
X 3. 62.6%
X4 157.1%

Question ID : 65497828284
Status : Answered
Chosen Option : 4

M 6 x (4 Xx5%)+3+7-8=2
ANS 1199

X 2. 299

X3 189

X 4. 200

Question ID : 65497828269
Status : Answered
Chosen Option : 1




Q.12 A shopkeeper sells a fan for ¥912 at a gain of 14% and another fan for T1.012 at a loss of 8%. What s his overall gain

or loss percentage?

Ans 1 5 0 .
o L E o gaimn

X2 ls%loss

X3 lz%loss

xa li%gain
11

Question ID : 65497828281
Status : Answered
Chosen Option : 1

Q1% The unit’s digit in (263)**° + (263)'%° + (263)5! s:
Ans X1 ]
#2.9
X33
x4 7
Question ID : 65497828263

Status : Answered
Chosen Option : 2

Q.14 Three horses are tied at three vertices of a triangular field, each with a 7 m long rope. What is the total area grazed by
the horses?

X 1 58 m?
2. 46 m?
3. 70 m?
4 77 m?

Ans

Question ID : 65497828273
Status : Answered
Chosen Option : 4

e ________________________________________|
Q.15 Three persons namely Govind, Rahim and Sudhir can complete a work in 8, 12 and 15 days, respectively. The time
taken to complete the work when they work together is:

Ans 1. 40/11 days
2. 4 days
3. 53/11 days
4. 6 days

Question ID : 65497828280
Status : Answered
Chosen Option : 1




Q.16 A sum lent at compound interest amounts to 72.8% more than itself in 3 years, interest compounded annually at a

certain rate per cent per annum. What will be the compound interest (in ¥) on a sum of T18,000 for 1% years at the same
rate, if the interest is compounded six-monthly?

Ans 1. 6,897
. 5,598
7,654
. 5,958

N

w

SN

Question ID : 65497828266
Status : Answered
Chosen Option : 4

Q.17 What price should a shopkeeper mark on an article, costing him 2210, to gain 16% after allowing a discount of 16%?

Ans o 1. 3290

X2 2210

X3 2270

X 4. %250
Question ID : 65497828262

Status : Answered
Chosen Option : 1

Q.18 Acar takes 4 hours to cover a distance if it travels at a speed of 60 kn/h. What should be its speed (in km/h) to cover the
same distance in 1.5 hours?

Ans X1 150
X2 165
X3 180
« 4. 160

Question ID : 65497828270
Status : Answered
Chosen Option : 4

Q.19 Two positive numbers A and B (A > B) are in the ratio 11 : 8. If the difference between 7 times of A and 4 times of B is
225, then the value of 2A + 3B is:

Ans X 1. 330

X2 220

« 3. 230

X4 320
Question ID : 65497828267

Status : Answered
Chosen Option : 3




Q.20 The average weight of some persons in a group is 70 kg. When 15 persons with average weight 60 kg leave the group or
15 persons with average weight 87.5 kg join the group, then the average weight of persons in the group in both the cases
is equal. How many persons were there in the group, initially?

Ans X1 35
X2 45
# 3 55
X 4. 65

Question ID : 65497828282
Status : Answered
Chosen Option : 3
Q.21 In how much time will a sum of money double itself at 12% p.a. simple interest?
Ans 1. 6 years 2 months
2. 8 years 1 month
3. 6 years 4 months

4. 8 years 4 months

Question ID : 65497828272
Status : Answered
Chosen Option : 4

Q.22

0.2+>0f 2 —1X 2 +2
02X2+-of > —2o0f -+
2 3 2 4
On simplification, the given expression gives the result as:

Ans 1

w1 —
%

X2 —1.3
X 3., =2

19

X4 1.3

Question ID : 65497828278
Status : Answered
Chosen Option : 1

. The average of the ages of a husband and his wife was 25 years at the time of their wedding. After 7 years, they have a
23 Th f th f a husband and his wift the ti f their weddi i hey h:
2-year old child. What is the average age of the family at present?

Ans 1. 21 years
2. 22 years
3. 29 years

4. 25 years
Question ID : 65497828275

Status : Answered
Chosen Option : 2




Q.24 Anarticle is sold for T452.20, after allowing three successive discounts of 20%, 30% and 5%. If a single discount of
55% is given on the marked price, then its selling price (in T) will be:

Ans X1 425.25
« 2. 382.50
X 3. 384.75
X 4. 467.50

Question ID : 65497828283
Status : Answered
Chosen Option : 2

Q.25 Divide 2310 people in three parties such that half in the first party, one-third in the second party and one-sixth in the
third party are all equal.

420, 650, 1240
420, 600, 1290
- 420, 630, 1260
420, 620, 1270

Ans

=

N

w

E

Question ID : 65497828271
Status : Answered
Chosen Option : 3

Section : Part D English

Q.1 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Each of the students were / present for / the valedictory session / that night.
Ans X 1.present for
X 2. that night
" 3. Each of the students were

X 4.the valedictory session

Question ID : 65497828302
Status : Not Answered
Chosen Option : --

Q.2 Select the option that can be used as aone-word substitute for the given group of
words.

A person who helps willingly without being paid for it
Ans  &# 1. Volunteer
X 2.Beggar
X 3.Worker
X 4. Leader

Question ID : 65497828296
Status : Not Answered
Chosen Option : --




Q.3 Select the most appropriate meaning of the given idiom.
To take pains
Ans X 1. To be involved in
X 2. To wait anxiously
X 3. To get injured

" 4. To make efforts

Question ID : 65497828288
Status : Not Answered
Chosen Option : --

Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Neither the chairman nor the directors has present.
Ans X 1.had present
" 2. are present
X 3. No substitution required

X 4.is present

Question ID : 65497828300
Status : Not Answered
Chosen Option : --

Q.5 Select the most appropriate meaning of the given idiom.
Child’s play
Ans " 1. Something that is very easy
X 2. Fair behaviour
< 3. Mischievous behaviour

X 4. Playful attitude

Question ID : 65497828291
Status : Not Answered
Chosen Option : --

Q.6 Select the option that can be used as aone-word substitute for the given group of
words.

Go back over the same route that one has just taken
Ans o 1. Retrace
< 2. Detour
X 3.Return
X 4.Reroute

Question ID : 65497828304
Status : Not Answered
Chosen Option : --




Q.7 Select the most appropriate synonym of the given word.
Estimate

Ans X 1.Believe

X 2.Solve

& 3. Assess

X 4. Discover

Question ID : 65497828290
Status : Not Answered
Chosen Option : --

Q.8 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

They would have / won the race / if they would have / run faster.
Ans X 1.won the race

«” 2.if they would have

X 3.runfaster

X 4. They would have

Question ID : 65497828294
Status : Not Answered
Chosen Option : --

Q.9 Select the most appropriate synonym of the given word.
Perceive
Ans " 1. Recognise
X 2.Declare
X 3. Present
X 4.Discuss

Question ID : 65497828303
Status : Not Answered
Chosen Option : --

Q.10 Selectthe INCORRECTLY spelt word.
Ans & 1. Aqurarium
< 2. Honorarium
X 3.Boutique
X 4.Bungalow
Question ID : 65497828298

Status : Not Answered
Chosen Option : --




Q.11 Thefollowing sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, select ‘No error’ as your answer.

The book must be /old for its cover /is torn bad.
Ans X 1.No error

X 2. old for its cover
X 3. The book must be
" 4.is torn bad

Question ID : 65497828289
Status : Not Answered
Chosen Option : --

Q.12 Select the most appropriate ANTONYM of the given word.

Deceive
Ans X 1.Delude

X 2. Pretend
X 3.Betray
" 4. Support

Question ID : 65497828305
Status : Not Answered
Chosen Option : --

Q.13 Select the most appropriate ANTONYM of the given word.
Opaque
Ans X 1.Dense
" 2. Clear
X 3. Misty
X 4.Hazy

Question ID : 65497828295
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate option to fill in the blank.
Heis greatly loved by all for his nature.
Ans X 1.confused
X 2. bewildered
X 3.decorative

& 4. compassionate

Question ID : 65497828299
Status : Not Answered
Chosen Option : --




Q.15 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Srinu had to take a break from his training for the marathon during the lockdown so he
decided to go to his hometown.

Ans X 1.take a break on
X 2.took a break in
X 3.take break for

+" 4. No substitution required

Question ID : 65497828292
Status : Not Answered
Chosen Option : --

Q.16 Select the INCORRECTLY spelt word.
Ans X 1. Negotiate

X 2. Miraculous
" 3. Reffere
X 4. satellite

Question ID : 65497828297
Status : Not Answered
Chosen Option : --

Q.17 Select the most appropriate option to fill in the blank.
People of the same are not allowed to get married in her country.
Ans o 1.clan
X 2.clam
X 3.clot
X 4.clum

Question ID : 65497828301
Status : Not Answered
Chosen Option : --

Q.18 Select the most appropriate option to fill in the blank.
After ahectic day, all he wanted was to rest in
Ans X 1.calm
X 2. quiet
" 3.silence
X 4. turmoil

Question ID : 65497828287
Status : Not Answered
Chosen Option : --




Q.19 Select the option that can be used as a one-word substitute for the given group of
words.

A short interesting or amusing story
Ans X 1.Legend
X 2. Myth
X 3. Epic
" 4. Anecdote

Question ID : 65497828293
Status : Not Answered
Chosen Option : --

Q.20 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select ‘No improvement required'.
The joint family system have undergone drastic changes.

Ans o 1. hasundergone

X 2. No improvement required
X 3. have underwent

X 4. are undergoing

Question ID : 65497828306
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dr. Jill Biden is an English professor in a college and she has four degrees, (1) a
doctorate. She is the wife of (2) newly elected U.S. President, Joe Biden. As (3)
next first lady, the 69-year-old Jill Biden (4) to keep her job and continue
teaching (5) is something that she did as the second lady when her husband was the
Vice President.
SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.

Ans X 1.include
&” 2.including
< 3.included
X 4.includes

Question ID : 65497828308
Status : Not Answered
Chosen Option : --




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dr. Jill Biden is an English professor in a college and she has four degrees, (1) a
doctorate. She is the wife of (2) newly elected U.S. President, Joe Biden. As (3)
next first lady, the 69-year-old Jill Biden (4) to keep her job and continue
teaching (5) is something that she did as the second lady when her husband was the
Vice President.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.

Ans X 1.a
o 2.the
X< 3.an
X 4.one

Question ID : 65497828309
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dr. Jill Biden is an English professor in a college and she has four degrees, (1) a
doctorate. She is the wife of (2) newly elected U.S. President, Joe Biden. As (3)

next first lady, the 69-year-old Jill Biden (4) to keep her job and continue
teaching (5) is something that she did as the second lady when her husband was the
Vice President.

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank no. 3.
Ans & 1. America’s

X 2. Americas
X 3. Americas’s
X 4. Americas’

Question ID : 65497828310
Status : Not Answered
Chosen Option : --

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dr. Jill Biden is an English professor in a college and she has four degrees, (1) a
doctorate. She is the wife of (2) newly elected U.S. President, Joe Biden. As (3)

next first lady, the 69-year-old Jill Biden (4) to keep her job and continue
teaching (5) is something that she did as the second lady when her husband was the
Vice President.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1.aims

< 2.thinks
& 3. plans
X 4. plots

Question ID : 65497828311
Status : Not Answered
Chosen Option : --




Comprehension:
In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Dr. Jill Biden is an English professor in a college and she has four degrees, (1) a
doctorate. She is the wife of (2) newly elected U.S. President, Joe Biden. As (3)
next first lady, the 69-year-old Jill Biden (4) to keep her job and continue

teaching (5) is something that she did as the second lady when her husband was the
Vice President.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.
Ans o 1. which

X< 2.who
X 3.what
X 4.whom

Question ID : 65497828312
Status : Not Answered
Chosen Option : --

Section : Part D Hindi

Ql g W a1 AT WlFd s Py s # Pauaew sw,4 fae  s1aga o
P B g AR D Ry amar 21
Ans X 1. fTRargl
X 2. 3eg
VERSH
X 4.9 8]

Question ID : 65497828331
Status : Answered
Chosen Option : 3

Q2 UMWY & THHIY A HTAGT IR |
o
Ans X 1.99
X 2.l
X 3. fom=m
o AF T

Question ID : 65497828329
Status : Answered
Chosen Option : 4

Q.3 TN H GoT @ aHr 9 W goTaR &l
T HYE? AN X 1. 4 &1 FOFe g Forr
X 2. QR AT- aTSl BT IR HAT
o 3.T[BATH MG el
X 491 AT

Question ID : 65497828314
Status : Answered
Chosen Option : 3




Q4 fgumuw wfaamw A

X 2. ¥g@id
X 3. & Hlfed
o 4. DT

Question ID : 65497828320
Status : Answered
Chosen Option : 1

Q5 fEu WY & THAY I HTIGT R |

Question ID : 65497828318
Status : Answered
Chosen Option : 4

Q6 P a1 a¥ Wi Fdsm e Pwmyalmas & Pauwesw sua,a ftas  staaa s
THUSTI BT o YR PR IET 8|
Ans X 1.fo7d W
X 2. TR
X 3.3
o 4.9

Question ID : 65497828330
Status : Answered
Chosen Option : 4

Q.7 fogu g ar w198 UM 1oTd FR oy H1E 1. 3 ReHg 1.8t g @ &8
e adt gl

g &3 ) Paaati2) g2 @) &S 1. ad
(@4Ans X 1.3
X 24
X 3.2
41

Question ID : 65497828328
Status : Answered
Chosen Option : 4




Qs ﬁqmmﬂi@lﬁﬁmaﬁmw%mmmﬁwmmﬁl
sﬁtﬁl{wﬁamﬁaﬁmaﬁ% | Aoy Sl agae o1 saw@ea TR &
BTG DY

afua 7 srvae & T ¥ UE ATd S pal i Aren ugAs
Ans X 1 dl SaaE @ RSl Tol o
X 2. 7[TE & Pl b Hicll UBATS |
X 3. T T[Crel & Bl B e US|
o 4. TCTd & el BT T Hiell Ue |

Question ID : 65497828313
Status : Answered
Chosen Option : 4

Q.9 e RIF & WA & R e SUYa Weg T 07 B
_ dmretad uromd
Ans X 1.®H
o 2. JUHR
X 3.9l
X 4 3D

Question ID : 65497828322
Status : Answered
Chosen Option : 2

Q.10 gﬁqwmmwmmﬁw#aﬁ%mﬁﬁ%aﬁﬂﬁiﬁﬁiﬁ“ﬁ%
I

TR & (1) oF® o2 R (2) T A 1 (3) FE IR TR (4)
Ans 1.3

%21
g 5
X 4.4

Question ID : 65497828325
Status : Answered
Chosen Option : 1

an ﬁaﬁr@auaﬁﬁqmmﬁmw I Rreen o1 907 oY, St 73T 7T ger ¥ o
P T HLAT 2l

Qg1 veTs el gfear
Ans X 1 fewrar g fewmar &
X 2. U B B
o 3. D URYH B 91g WIYRY ATH
X 4. T 90 BIs B BT

Question ID : 65497828321
Status : Answered
Chosen Option : 3




Q.12 fYea RIF WA F o 999 Suged Usg ST IaT Y

g & 3= A TRaE @9 # urr femmi
Ans X 1 Tdam

X 2 o
3. Ufagifirarn
X 4.gdam
Question ID : 65497828316
Status : Answered
Chosen Option : 3
Q.13 W a1t 9T Weg BT 99 BY |
Ans X 1 TSR
o 2. Ut
X 3. g
X 4 Uadufa
Question ID : 65497828323
Status : Answered
Chosen Option : 2
Q.14 fyga RIF &1 WA & fQ 9a Iuged g 1997 B
TeR e & ST gl
Ans X 1 iaeH
X2 aBTEY
X34
& 4 B REY
Question ID : 65497828319
Status : Answered
Chosen Option : 4
Q.15 g} &1 5 garr T F e v wreg ER-
Ans X 1 fwifa
X 2. UER
X 3. faaAr
o 4. Tia
Question ID : 65497828332
Status : Answered
Chosen Option : 2
Q.16 3T 7T weg @1 faim 41
fora
Ans 1 fAf@
X 2 faga
X 3. 3ffaw
X 4 fafea
Question ID : 65497828326
Status : Answered

Chosen Option :

3




Q17 gmmmammﬁmﬁaﬁ%mﬁﬁéa&aﬂ%ﬁﬁézﬁﬂﬂ%
|

T U & BT (1)) IHT T SFTE (2)\ HTeR-FebR &ram AT (3\ B R T8 & (4)
Ans X 1.1

J24
g B
X 4.2

Question ID : 65497828317
Status : Answered
Chosen Option : 2

Q.18 g ¢ e & o vw ardfe v difvmi
S A BT 38T TG 8
Ans X 1_fopfien
X 2 fommen
X 3.forfiy
« 4. g

Question ID : 65497828315
Status : Answered
Chosen Option : 4

Q.19 3 7 ream™ & for ve weg difor
S TSR B T AT &
Ans X 1. P
x 2. ufqueht

3. Fad
x 4 TR

Question ID : 65497828327
Status : Answered
Chosen Option : 3

Q.20 FE ot a1 W=g BT TG BN
Ans 1 SEDHY

X 2. SR

X 3. srgwRiom

X 4. Sl

Question ID : 65497828324
Status : Answered
Chosen Option : 1




Comprehension:

fegmg T $B Vst gl U T 1 3T T et 3t wgraar 2 Rad wF W1 ude g&m
& fore ey Iugad fadhed &1 98- B

B9 U8 B8 Ydd & [ AR aRI 3R (1) , g8l (2) B Udfd A gR R T
< %I;ammﬁnhﬁmm uﬁna&ﬁm) &l & DRI -3
(5 ®feam

SubQuestion No : 21
Q.21 e ¥ firaa R (1) ¥ forg waifre Suges =g drm-
Ans 1 faegmEH
X 2. ufded
X 3. 3l

X 43U

Question ID : 65497828334
Status : Answered
Chosen Option : 1

Comprehension:

feu g T $B et el U T 1 3T T et 3t wgraar 3 fad ®F W1 udd goin
& foT Ye Iugad faded &1 98- B

BH g &g Udd & [ gAR IR 3R (1) , gl (2) B Upfa A gAR R we
3) @gmmﬁﬂmﬁmmmnﬁm (4 g€ d BRU-3Y
(5) P fean

SubQuestion No : 22
Q.22 T F fYed wIF (2) & fore waifie Suged e Em-
Ans 1 UHfERY

X 2. aafdd
X 3. 98
X 4. afafa

Question ID : 65497828335
Status : Answered
Chosen Option : 1

Comprehension:

fRumy T $S et geT U MU 31 AT ¢ et Bt weraar A Rad i W1 uds g
& foT Y Iugad faded &1 98- L

B UE g Udd & & gHR IR 3R (1) ,d@8l (2) 81 Ui A g9R i t
3) @qﬁu;ammﬁﬁm%mm,uﬂnawﬁ@) &l & HRU - I
(5) o fean

SubQuestion No : 23
Q.23 T F fYea Wi (3) ¥ fore waifte Suged g Em-
Ans X 1_3mfeEd
X 2. RER

o 3T

X 4. FipE

Question ID : 65497828336
Status : Answered
Chosen Option : 3




Comprehension:

feumg T $B s gl 2T T §1 3T U fachetl 3t weraar @ Rad = W1 Ude g
& fou ga Iugad fadey &1 994 L

Y U8 &8 Udhd ¢ [P AR IR 31K (1) , @8l (2) B Udpfd 4 AR L t@
< qaqﬁu;lasfﬁmmﬁnimﬁmm mngmﬁm) &l & DRI - 39
(5 ®feam

SubQuestion No : 24

Q.24 Ty ¥ fYaa ®IF (4) F e waifte swgea wsg 2m-

Ans

X 1. qeHifae
X 2. ifdd

X 3. UReidd
4. Hifd@

Question ID : 65497828337
Status : Answered
Chosen Option : 4

Comprehension:

ﬁqmﬁaﬂwmmmmél fou e fadedl &1 Yerdar ¥ Rad ®IH W1 Uds &
& foT Yad Jugad faded &1 98- Y

BH U8 &g Udd & [ R IR 3MR (1) , gl (2) B Ul A gaR Rt we
(3) @%ﬁwmﬁmﬁmw WA (4)_ g&l & DRI -3
(5 e

SubQuestion No : 25

Q.25 1Ty & fYea wi (5) F e walfe sugea weg 2m-

Ans

X 1. I=aq
X 2. IHIHD
o 3.Gfa
X 4. 31yd

Question ID : 65497828338
Status : Answered
Chosen Option : 3




Exam Date 25/11/2021
Exam Time : 4:00 PM - 5:30 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q1 T A9 H%EWH,GRAPES@GG% JH q@ivdie | ST HIWTH praise 3T BY UH
RLCISIRIIE

Ans X 1.69
X 2.66
X 3.67

o 4.68

Status : Answered

Chosen Option : 4

Q.2
Select the correct mirror image of the given figure when the mirror is placed at XY.

Ans

O 41 PR EAOZQRAATT
QUESHONTD-""004I9 700047

Status : Answered
Chosen Option : 3




Q3 it % 3w wog &1 T X oAF A9 F TIY F CoAST 37 NG @R TEY Ao SR a0F @
gl s g

AN X 1 e, ofRraT, s
2. FFRT, TGS, M

3. Fc . w’ T ﬁ. : ﬁ E + s
o AT, I2Y, TStaAar

Question ID : 65497836486
Status : Answered
Chosen Option : 3

Q.4 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

BZE, CWG, ESI, ?, LHM
Ans o 1. HNK
X 2. HMK
X 3.GNJ
X 4. 1ML

Question ID : 65497836483
Status : Answered
Chosen Option : 1

Q5 ¥ I FWHHIITHR TWT F AT ITYNR T JHWIR
el QU I S|

S P__MS MP_
Ans X 1. MSPSSS

X 2.PSMSSS

¢

" 3. MSSPSS
X 4. PSMPPS

Question ID : 65497836471
Status : Answered
Chosen Option : 3

06 TR T TG, T K U R ITH WHE IRTG Y § |39 ITE
FIA DI UG |

Ans X 1.TVX
& 2.GIL
X 3.BDF
X 4.PRT

Question ID : 65497836474
Status : Answered
Chosen Option : 2




07 T I TR NG AT PRUGUWE, T FRGAY o HE
YT YT |

625:25::?7:35

Ans X 1.1025

o 2.875

X 3.756

X 4.927

Question ID : 65497836479
Status : Marked For Review

Chosen Option : 3

Q.8 Select the number from among the given options that can replace the question mark
(?) in the following series.

3,4,8,17,33,?
Ans 4 1.58
X 2.56
X 3.49
X 4.69

Question ID : 65497836476
Status : Answered
Chosen Option : 1

93 IG BTN, T QY oHd o GeUE 7% ¥
Q9 &z UH @ YT o I

145, 5, 29
Ans X 1.180, 16, 30

X 2.160, 20,6
o 3.224,14,16
X 4.125,10, 15

Question ID : 65497836489
Status : Answered
Chosen Option : 3




Q10 =7 gy 1 oo Y, T Feifea T (2fe) @ [t W A=y 9 ged R ST g B

[:

mmlwm

<]
afadidis
ANS L Faer B
2 A AR D

s A3 C
“ g D

Question ID : 65497836481
Status : Answered
Chosen Option : 4

o G

Ans X 1.D
X 2A
X 3.E
« 4.B

Question ID : 65497836478
Status : Answered
Chosen Option : 4

QT 4 THCUWH, wosedlopvpd UH oISl § IR wa Bl xsge & UH
TEAAE | JH UV H race B &Y TH @ AT,
Ans X 1.JCEE

X 2.KCFF
X 3.LBFE
« 4.IBFF

Question ID : 65497836468
Status : Answered
Chosen Option : 4

Q13 T IR T T AR 7 3P T8) B AT 9eq AW dl 7 TG AP Pl
M ST

18-20+7x(15+5)+3
Ans X 1.12

X 2.28

X 3.35

o 4.47

Question ID : 65497836480
Status : Answered
Chosen Option : 4




Q14 wea‘}arﬂﬁ%%azﬁq maaﬁﬁlz%ﬁﬂua{a d SMITTT o aoH Bl a6 F A
RN IAI e, d DT dYH « T

Ans X 1.%6,205

X 2.%5,940
«” 3.%5,985
X 4.%6,930

Question ID : 65497836490
Status : Answered
Chosen Option : 3

Q15 IR H LMGhl LE] \}%}$W v a3 g
M

W%B’IKL N?@HQBTE’ 'C«Tﬁa
Ans X 1.L

XM
X 3.K
o 4N

%
%r%

<
R
ey

gl E

Question ID : 65497836485
Status : Answered
Chosen Option : 4

016 UMFH IR 7 T & FEH G | &
WA QI @ odd o
ATABIND & U3 UTHFAE HE

FE
w1} e W 7 TR E |

oldd g § |
gl o 7 TaR EeR €|

AW TR T 7D T
aagg F QUMW TH ﬁﬁw

Y.
PR TOR F TG § |
1P GUTPR IdDh |
Ans X 1HTT A U GG
#2530 7 ¥ U5l
X 37T T T ARAE ) TH R Fl
X4.WEﬁ¢f Y1 g7 97T P&l

Question ID : 65497836488
Status : Answered
Chosen Option : 2

Q.17 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

GPHD : KTLH :: SDFG : ?
Ans X 1. VHKM
X 2. UHJL
X 3.XGJL
" 4. WHJIK

Question ID : 65497836467
Status : Answered
Chosen Option : 4




Q-18 gelect the option in which the given figure is embedded (rotation is NOT allowed).

Vi

Ans
X 1.

Question ID : 65497836482

Status : Answered

Chosen Option : 2

Q.19 Select the figure from among the given options that can replace the question mark (?) in the following series.

b4 - . ?
Ans —

X 1

X 2.

X 3.

o 4.

Question ID : 65497836473

Status : Answered

Chosen Option : 4




QZOWWE ORARH PQRSTUV@TWEIQSW‘-I'I'&CE’IVQ@TRWQETBI
UPTHE B | w, s@ﬁ?rﬁﬁe lpvBTIE |
RFI TR p S WY FY UT T o

Ans xl,ﬂﬁﬁ
o 2 99
x@l@j
X 4|

Question ID : 65497836469
Status : Answered
Chosen Option : 2

Q21 V¥ FRA WP TR A yag T8 PR« oTHT WIS YAE |
Ans xl,ﬁﬂ

< 2. SfIdl

X 3. Hl o

¢4.ﬁ1’€[

Question ID : 65497836484
Status : Answered
Chosen Option : 4

022 a"s'ﬂﬁ'q’d% Tl W UMY & Il ADIGAT, T G IW I WY BN
qde |
1. Nebulous
2. Necessary
3. Necrosis

4. Nectarine
5. Negative

Ans o 1.1,2,3,4,5
< 21,3245
< 332541
X 4.54,2,31

Question ID : 65497836470
Status : Answered
Chosen Option : 1




Q.23 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

----- 1 =
i,
\\: ! /‘gﬂ\‘:
£ i A |
Ans

a a

a

m]

m} a

O
o
X 3. o o
o
o o
O
o
¥ loo oo
o
o

Question ID : 65497836491
Status : Answered
Chosen Option : 2

Q.24 Select the number from among the given options that can replace the question mark
(?) in the following series.

100, 96, 88, 76, 60, ?
Ans X 1.38
o 2.40
X 3.3
X 4.20

Question ID : 65497836472
Status : Answered
Chosen Option : 2

QB Udh 9 dHCHNH ,‘DECK'&’J[‘WVXP' gl oTdl & ,Gh?'CLmM'ﬁ'XOZRN' [REISIGIN
B@%E YINTH ‘wascor 1 HY IR [SECIRSILKIR

Ans & 1. NZHXLG
X 2. 0OZHXMG
X 3.NZGXKG
X 4. NZHYKH

Question ID : 65497836487
Status : Answered
Chosen Option : 1

Section : Part B General Knolwedge and General Awareness



Q1 PP T F - WS TGN $90> THR T
T goAns X 1 7l gUIT 4

2 O TBHG

x4 e:::?TH@Rf[

Question ID : 65497836492
Status : Answered
Chosen Option : 2

Q2 Y T THH g TRWAHT THE T AGE G I o6l d HH-a1 7
M@Ans xlﬁm

& 2 Al

X 3.A7 58

X4.1-h'{afﬂ

Question ID : 65497836506

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q3 7 WEIH ¥ HV H 7 I COUWG YT § oF R
FUMp Ans o 1 W IR T

X 2T IR AT

X 3 UoT4 3R g T

X4STTUMA T

Question ID : 65497836500
Status : Not Answered
Chosen Option : --

Q4 TAR20200 & - THIHT A PUM W ¢ HHII I 0D AP Gl A
W & Y|
Ans X 1.0¥ ¥
o 2.3 gauy
X30 o
X4.ﬁ¥[3?

Question ID : 65497836511
Status : Answered
Chosen Option : 4

05 FHA WORATAR 00T BlC WY IRORR & MY HU IS qU
T ol Y &
Ans 13 T
X 29
X3.af'i’TFﬂ
X 4T A

Question ID : 65497836497
Status : Answered
Chosen Option : 1




06 7 JFANFURGS TG TSI WR & Jag, 9T T
TBAns X131 T

X2 A

¢3.€*ﬁ€9ﬂ

X 48 NG

Question ID : 65497836503

Status : Answered

Chosen Option : 3

07 168 W HRAWSR <RI T WE 3@lH Y *dg UHTW oA
Eﬁ‘[ﬁ?Ans xl.iﬁ.WIzﬁ

& 2TAIF |
X 3. 9 TY AU

X 4. TIUA HIR of

Question ID : 65497836509

. Not Attempted and
Status : Marked For Review

Chosen Option : --

Q8 MM 200f & WERA JAIR T @ YPR BIW )3 Y TIH. 2019 % YN

Ans o 1.16
X 222
X 3.25
X 4.18

R T HYFR BT MBS L JIR AN & AU W YIe BT 73 B |

Question ID : 65497836496
Status : Not Answered

Chosen Option : --

09 FHC IIMTGICUYRAT F W USWNE
2Ans X 1.3 UHd g T

Xz.Tﬁ?ﬂ

¥ 3.9 TG

X 4.3

Question ID : 65497836513
Status : Answered

Chosen Option : 1

Q.10 s:::::sﬂ'm'dﬂT RUEASR FYWH 3 &
T U ans X 1. 1957
" 2.1965

X 3.1961
X 4.1963

Question ID : 65497836504

. Not Attempted and
Status - Marked For Review

Chosen Option : --




ou HTAYIING & § oI350 A 1aNG 317 & T oM aaam_ s JHF |
Ans le

F2LD
X 3 BB

X4.W?BCT

Question ID : 65497836516
Status : Answered
Chosen Option : 2

02 WEHGH § I FIUT TG T 7 QI A ¥ WW@@SW@
Ans xl_EﬁE'IT-[

)Q.ﬂﬁ"[

o 3. QIR

X4.‘JT

Question ID : 65497836493
Status : Answered
Chosen Option : 4

QB (T THIR T B
Ans o LB ONH G G o TH
X2 OETS § TS
X R TWHE W AT
X 1T THG T T

Question ID : 65497836498

Not Attempted and
Marked For Review

Chosen Option : --

Status :

01 7 TEAT ¥ P8 ¥ PRUREN ARG & I T3 TR § G B B
Ans Jl.ﬂ_ﬁ’ q QTe

X 2%d 9 &

X3 TR HH Y

X 4 TRI®

Question ID : 65497836494
Status : Answered
Chosen Option : 4

057 TEIY PUY AP PRUTG §H Mol &
Ans X1.W(W)

¢2.GﬁHTUl(a :‘:TWT)

X 3. Ddd

X 4. clere

Question ID : 65497836508

. Not Attempted and
Status - Marked For Review

Chosen Option : --




oA TR AFAYRI Teddi@ dvm FH W B Py
Ans X 1.2018

& 2.2016

X 3.2014

X 4.2012

Question ID : 65497836512
Status : Answered
Chosen Option : 2

Q17 o011 SFTIUF) & s!gw,:r AGdH PG H T TMUA( T T F
JHH &dT) 1000 S YD © 2

Ans X 1. HeRI
X 2. 96
X3 XN oM
" LB

Question ID : 65497836501
Status : Answered
Chosen Option : 4

08 WRAP YWAS CGNH 7 TEIH YPHUY § TWH
g?Ans Xl.q H (sovereign)

X 2. =T (Justice)

X 3 aﬂ?ﬂ (Fraternity)

o 4 W (Capitalist)

Question ID : 65497836495
Status : Answered
Chosen Option : 4

o1 7 TG H T PH T Tl MR &
Ans X 1.7 TH 3l R

X 2T T

o 4 O

Question ID : 65497836507
Status : Answered
Chosen Option : 2

Q20 MY FHWG & G Y AT (CcEA) T AIB T T3 Y 2022-23F> TN & Bl
A A usp)_d <l TUIRd DUTR |
Ans o 1.%2,015
X 2.%1,995
X 3.32,005

X 4.%1,975

Question ID : 65497836515
Status : Answered
Chosen Option : 1




02 15465 TP ATYH GRA T ATTH Y U aers ael T o

Ans o 1 U3 -TEY

Ans X1 E AREP T
X293 § oIdl 5 W
X 3. UmaR ¥ §9 g
4G § ol

X2 Y3 Wy
X dEel ey
X dEH WY
Question ID : 65497836499
Status : Answered
Chosen Option : 2
Q22 HR?ﬂ'quTS'HBHT$ YRT 3048 QWWE |

Question ID : 65497836510

Not Attempted and

Status : Marked For Review

Chosen Option : --

0 F TUAH YOHT RS Gl AWy R §am T Uy
Ans fl_&[ﬁléa'{?ﬂ\_yl'[

X 2 TR

x 2 99 ag

X 4. THEO FT HHHR

Question ID : 65497836502
Status : Answered

Chosen Option : 1

02 BN T YA & o, 99 W 12000 T8 TEH AT FRFH I 200 Jg JUd
Rl D |

Ans X LYH YPIR
X 2. T
X 3T Y T

o 4. ERTC’W

Question ID : 65497836505
Status : Answered
Chosen Option : 4

12' (Believe in Sport)' &‘Hﬂﬁ% EIE QWQW
Ans 1Py Y Y
X 2 HADE of
<3 7 o
X 4. g HRIGE o

05 Mo ¥, IR WATUGTATY T IAH szﬁwmaﬁr%% I T
3 T TH 1 Hd 41l

Question ID : 65497836514
Status : Answered
Chosen Option : 4

Section : Part C Elementary Mathematics




Ql wx sufr mnfees wfafer 3 Bresl - gor H1w, 2w R st iz - & v Aex & A3t # 528 Fex qu
ST 1 2 gy F WRel #r RN, TF F qU F el T gorer # 80% AT §, AR sma ds qu F
daet fr R, s qu & et B goem F 60% w &1 TT IR sa oz g & fraw e dmar @2
Ans 1 100
2112
2108

4110

Question ID : 65497836540
Status : Answered
Chosen Option : 3

Q2 ofy it @ 37 9fy & & 7w 310 I F F TET W &0 1T 8, A 7O F & oy A F
&I T R 3990 ¥ T Wl et 7 Fw Hew 1,980 ¥, AR oy AT amer 18% &, A T@ et &
T Tem (3 ) g gem?

Ans1.90.20
2. 70.80
3. 99.00
4. 60.00

Question ID : 65497836519

Not Attempted and
Marked For Review

Chosen Option : --

Q.3 B el #1% I U # & T, A gann o 1w et S FEam F 91 I O g1 T WA FHA H,
T HAE F 15 R F 9w W AF §1 W FE F [ R T 3 A F o e

Ans 120
2. 12
518
4 16

Status :

Question ID : 65497836523
Status : Answered
Chosen Option : 3

|
Q4 A B3k C & gea@ §1 A B ¥ 45% 3 ¥ 3 C, A @ 60% Fd &1 B, C ¥ vy gfaea
(Frpeasm quite a) 31w &2

ANS 1 42%
2. 72%
3 70%
+ 68%

Question ID : 65497836533
Status : Answered
Chosen Option : 1




Q5 77 S & S TEw Hi W ¥, S 4 ¥ 9 T H wh FEwmat ¥ T 2
Ans 12540

2. 2520

3. 1520

4 840

Question ID : 65497836539
Status : Answered
Chosen Option : 2

Q.6 18 m =&, 10 m 3= 3% 40 cm =& v &R Fr 30 cm, 15 cm 3K 10 cm $r Famat awr &t &=
ITART FF AT AT §1 e g2 (@SR F) Fr AEegFHar g

Ans 116000
2 16
3 14
4. 14000

Question ID : 65497836518

Not Attempted and
Marked For Review

Chosen Option : --

Status :

T —
Q7 10 3k 20 & &1 3 & wEr A= S F wA AR 4 F TS 2 oA F AT F A F7 FRW 7=

Exdl
Ans 1. 2
2. 3
3.1

4 4

Question ID : 65497836528
Status : Answered
Chosen Option : 3

%% 10-[378+60f9— (25— 72+ 3)] F AT fFaaT 22
Ans 1. 4

2. 1

5 3

i 9

Question ID : 65497836521
Status : Answered
Chosen Option : 1




Q9 275,000 #r vy 1, AT IUR W THIE ¥ A vF WRAF AWF WS @ W 2 F F g
THgfE = 36,120 ¥ IR =S YARF HUR R gl @ &, aF T1,00,000 FHr Ry Hr 38
ST & W TF 99 & T Iog Gy (3 &, SHeT & & T d TE) e g

Ans 1. 1,04,060.40
2. 1,00,400.60
3. 1,06,040.20
4. 1,40,060.50

Question ID : 65497836520

Not Attempted and

Status - Marked For Review

Chosen Option : --

1 72 — [20 — {10 — (6 — 6= 14)}] FT AT Tl B2
Ans 148
2. 58
5. 44
4. 5B

Question ID : 65497836524

Status : Answered

Chosen Option : 2

Q11 w1 =af¥a 1000 m waT & 6 min F IR FIaT ¢l 3HA T (km/h ) fraer &2
Ans 1. 8

2. 16

310

4. 42

Question ID : 65497836525

Status : Answered

Chosen Option : 3

Q.12 v fafeaT «eRIMY, THTAT ATSE TURUT S X T 4 T F 712,420 R 7 T F 714,985 & S
HEERRCEURBETCilk-vd

Ans 1. ¥9,000
2. 38,400
3. 9,500
4. 38,800

Question ID : 65497836537

Status : Answered

Chosen Option : 1




QI3 g I smmewr wEAHT & wgraw WATE (LCM) &1, 959 A e wEAnt & Hgeaw WAEAE
(HCF) & 319 91 i

Ans 1168 :1
2105 : 1
36 :1

.26 : 1

Question ID : 65497836527
Status : Answered
Chosen Option : 2

Qb g A:B=8:93rB:C=12:55% arA:B:C & & T §?
Ans 1.32:36: 165
2.32 : 165 : 36
3.32:36: 156
4.36 : 32 : 165

Question ID : 65497836517
Status : Answered
Chosen Option : 1

Q15 zwmrer & v a5 # F5 0 IR fa T o 77 37 FT qeT W 30% F we AT
BT 38 IfFT TeT W 12% F ge W 5@ 3 2 389% @nr #f5T awafaw gfoea o g X

Ans 1 15.2%
2 14.2%
5 14.4%
4 13.8%

Question ID : 65497836532

. Not Attempted and
Status : Marked For Review

Chosen Option : --

Q16 vz axg #1 22,900 # IR Th GHFIR 16% 1 o Ao FIT ¥1 IR WA T 23,050 F &=
2, a 3HHT Siaerd oeT FAr gar?

Ans 1. 20.5%
2. 22%
3. 21%
4. 20%

Question ID : 65497836541
Status : Answered
Chosen Option : 2




Q17 =fy 51, x, 72 3R 96 WA &, aF (2x+8) 3R (x+13) F &= AT Fraer gem?
Ans 1412

2 117

3. 96

4108

Question ID : 65497836536
Status : Answered
Chosen Option : 4

Q.18 zFmER A, I500 ¥ 3ifFa Hoa W 8% 3N 12% A & HAF ge & ¢ W& 37 gH=ER B, 3H
3ifera FEa el 38 aFg W 20% H THS FT & g1 A6 OHT HeA H R A B

Ans 13440
2.34.80
3. %3.20
4.35.20

Question ID : 65497836526
Status : Answered
Chosen Option : 2

Q.19 gam wars #r & & A 3 B FHWER welE 9w v & fRar F FHr 64.8 km/h 3T 50.4 km/h #r
I T T WY | ST A, T B T U BT H 9N F ¥l IAF A Y @GS (m H) AT HY

Ans 1. 150
2. 125
3.100
4120

Question ID : 65497836535
Status : Not Answered
Chosen Option : --

Q.20 A 3R B Mo Rl & &1 24 et F o &< e §1 B 3R C oy 5@ 30 et & @ R weRa
g1 3 A &1 garar C # goeT F ST @, dF B 3w 38 F1F # 90 F F o fraw A @& www
*R?

Ans 1 36
2 40
3. 30
4. 48

Question ID : 65497836534
Status : Answered
Chosen Option : 2




Q21 v gearR s@s F1 IRATT 440 m ¥ 6% IR 5 m T FeAER T ¥ T¥ F AR
(m*#H,n =2 ge) ST febear gem?

Ans 1. 2278.6

2. 1822.9

3. 2121.4

4.1964.3

Question ID : 65497836538
Status : Not Answered
Chosen Option : --

Q22 27,800 # afr a1 A, B 3k C & 35w Fonfoa B T ¥ B W REW A F Ry A L ¥
T C @7 REar B & REX ¥ 20% 30w ¥l A T REar A1

Ans 1. 34,500
2. 32,500
3. 31,500
4. 33,000

Question ID : 65497836529
Status : Answered
Chosen Option : 1

Q.23 23 ot @ sifwa 7R 53 kg &=t fam o o7l U Retw T AR N onfEe F W, sitwa s F 100
gﬁqﬁ'g@ﬁaﬁaﬁm(kgﬁ)maﬁ'l

Ans 1. 55.8
2. 56.4
s bb.4
4. 56.2

Question ID : 65497836531
Status : Answered
Chosen Option : 3

Q24w PfRaa eI ¥ AT, 5% aI¥® Orer ¥ W, 2 a¥ & FRor sa= (Sl) 3R af¥s
T ¥ TR AT T TgfE A (Cl) F @I F A 325.00 F1 9 ORIy AT HX

Ans1.%12,000
2. 38,000
3. 37,500
2. %10,000

Question ID : 65497836530
Status : Answered
Chosen Option : 4




Q25w zafda & v AT a6g 35,400 F WA AR 3TH FEHT W 200 W Ul 3HA T 36,300 F
= R 3wt w4 32

Ans @ 1.125
x210
x3 12
x4 14

Question ID : 65497836522
Status : Answered
Chosen Option : 1

Section : Part D English

Q.1 Select the INCORRECTLY spelt word.
Ans & 1. Pronounciation

X 2. Prolong
X 3. Procrastination

X 4. Proactivity

Question ID : 65497836553
Status : Answered
Chosen Option : 2

Q.2 Select the most appropriate meaning of the given idiom.
Gift of the gab
Ans X 1. Ability to draw sketches
X 2. Ability to please others
«” 3. Ability to speak confidently and clearly

X 4. Ability to speak in a sarcastic tone

Question ID : 65497836552
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate option to fill in the blank.
If you do not pay your you will be imprisoned.
Ans X 1. debit
o 2. debt
X 3.damage
X 4. deed

Question ID : 65497836561
Status : Answered
Chosen Option : 2




Q.4 Select the INCORRECTLY spelt word.
Ans X 1. Progress
X 2. Vicious

X 3.Accuse
«” 4. Acclame

Question ID : 65497836549
Status : Answered
Chosen Option : 4

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Skydiving was arare opportunity that | had got, so, even though | was exhausted, |
decided to go for it.

Ans & 1. No substitution required
X 2. as yet though
X 3.still even if

X 4. so despite however

Question ID : 65497836542
Status : Answered
Chosen Option : 3

Q.6 Select the option that can be used as a one-word substitute for the given group of
words.

The action of killing oneself intentionally
Ans X 1. Parricide
X 2. Homicide
" 3. Suicide
X 4. Genocide

Question ID : 65497836557
Status : Answered
Chosen Option : 3

Q.7 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

Since heis strong, heis quite timid.
Ans & 1. Although
< 2. No improvement required
X 3.Because
X 4. Besides

Question ID : 65497836559
Status : Answered
Chosen Option : 1




Q.8 Select the most appropriate ANTONYM of the given word.

Aggressive
Ans X 1.Sharp

«” 2.Calm
X 3.Excited
X 4.Simple

Question ID : 65497836558
Status : Answered
Chosen Option : 2

Q.9 Select the most appropriate synonym of the given word.

Amiable
Ans X 1.Honest

X 2. Dishonest
«” 3. Friendly

X 4.Disagreeable

Question ID : 65497836551
Status : Answered
Chosen Option : 3

Q.10 Select the most appropriate option to fill in the blank.

He has been in his performance throughout.
Ans X 1.conducive

X 2. connotative
" 3. consistent

X 4. constructive

Question ID : 65497836554
Status : Answered
Chosen Option : 4

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The teacher punished him / and told him / that he does not / need to give a
clarification.

Ans X 1.needto give a clarification
X 2. The teacher punished him
X 3. and told him
" 4. that he does not

Question ID : 65497836550
Status : Answered
Chosen Option : 3




Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

A person who takes care of cattle
Ans X 1. Gardener
«# 2. Cowherd
X 3. Guard
X 4. Landlord

Question ID : 65497836545
Status : Answered
Chosen Option : 2

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Theinterviews will be held between 11 a.m.to 5 p.m.
Ans  «# 1. will be held from

X 2. will be held at

X 3. No substitution required
< 4. will hold during

Question ID : 65497836544
Status : Answered
Chosen Option : 1

Q.14 Select the most appropriate synonym of the given word.
Immerse
Ans X 1.Immediate
X< 2. Immoral
< 3. Submission
«” 4. Submerge

Question ID : 65497836556
Status : Answered
Chosen Option : 4

Q.15 Select the most appropriate meaning of the given idiom.
Blue blood
Ans X 1. Rare sight
" 2. Noble birth
X 3.Bad mood
X 4.Weak person

Question ID : 65497836560
Status : Answered
Chosen Option : 3




Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Lack of feeling
Ans X 1. Sympathy

& 2. Apathy
X 3. Telepathy
X 4. Empathy

Question ID : 65497836548
Status : Answered
Chosen Option : 4

Q.17 Select the most appropriate ANTONYM of the given word.

Frivolous
Ans X 1. Quiet

o 2. Wise
X 3.1dle
X 4. Petty

Question ID : 65497836547
Status : Answered
Chosen Option : 1

Q.18 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Philip was / too proud / for extending / a hand of friendship.
Ans X 1. ahand of friendship
X 2. Philip was
¥ 3. for extending
X 4.too proud

Question ID : 65497836546
Status : Answered
Chosen Option : 4

Q.19 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Go to the ninth block on the left-hand side and take a sharpest turn to reach Bunny’s
house on the right.

Ans X 1. on the right
X 2. Goto the ninth block
< 3.Bunny’s house

" 4. take a sharpest turn

Question ID : 65497836555
Status : Answered
Chosen Option : 1




Q.20 Select the most appropriate option to fill in the blank.
The cannot be a panacea for all respiratory infections.
Ans X 1. healing
X 2.care
X 3.diagnosis

" 4. treatment

Question ID : 65497836543
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The human skeleton is the (1) framework of our body. It gives shape and support to
the body. (2) , it provides protection, makes blood cells, stores minerals and regulates
hormones. The spinal cord is an (3) part of our body. The ribcage protects our lungs
and heart. To increase the (4) of our bones, we should include calcium in our diet. All
our (5) organs are protected by this skeletal system.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans o 1. external

X 2. superficial
X 3.internal
X 4. middle

Question ID : 65497836563
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The human skeleton is the (1) framework of our body. It gives shape and support to
the body. (2) , it provides protection, makes blood cells, stores minerals and regulates
hormones. The spinal cord is an (3) part of our body. The ribcage protects our lungs
and heart. To increase the (4) of our bones, we should include calcium in our diet. All
our (5) organs are protected by this skeletal system.
SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans  «# 1. Besides
X 2. Unless
X 3.Beside

X 4. Although

Question ID : 65497836564
Status : Answered
Chosen Option : 4




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The human skeleton is the (1) framework of our body. It gives shape and support to
the body. (2) , it provides protection, makes blood cells, stores minerals and regulates
hormones. The spinal cord is an (3) part of our body. The ribcage protects our lungs
and heart. To increase the (4) of our bones, we should include calcium in our diet. All
our (5) organs are protected by this skeletal system.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans & 1. important

X 2. eternal
X 3.alert
X 4.insignificant

Question ID : 65497836565
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The human skeleton is the (1) framework of our body. It gives shape and support to
the body. (2) , it provides protection, makes blood cells, stores minerals and regulates
hormones. The spinal cord is an (3) part of our body. The ribcage protects our lungs
and heart. To increase the (4) of our bones, we should include calcium in our diet. All
our (5) organs are protected by this skeletal system.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1.value

X 2.length
" 3. strength
X 4. ability

Question ID : 65497836566
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The human skeleton is the (1) framework of our body. It gives shape and support to
the body. (2) , it provides protection, makes blood cells, stores minerals and regulates
hormones. The spinal cord is an (3) part of our body. The ribcage protects our lungs
and heart. To increase the (4) of our bones, we should include calcium in our diet. All
our (5) organs are protected by this skeletal system.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.fundamental

X 2.secret
X 3.secondary
o 4. vital

Question ID : 65497836567
Status : Answered
Chosen Option : 2

Section : Part D Hindi



0L MY BIFATY ¥ T

DYl
Ans X 1.3Y «¥
o 2.9 od
X 3.7
X 4. AICh

Question ID : 65497836569
Status : Not Answered
Chosen Option : --

Q2 WM F HYUMH

e |
Ans Xl.m
o 2. ol ATl
X 3H Elv_'qP
x 4 3VEl

Question ID : 65497836585
Status : Not Answered

Chosen OBtion D
03 WINPT |

Ans X 1 R dlg
X 2. 31 JNAIG
X 3. 3 Raiq
¢4.31T‘\’ﬁ?ﬂ?£

Question ID : 65497836579
Status : Not Answered
Chosen Option : -

4 7 T8 H WUNIRTE T IJWIG FTAR GFER FY o

81 7¢ 790
Ans x1,§{qw=n
Xod  da
o 3 RY B
* ¢ B YT

Question ID : 65497836578
Status : Not Answered
Chosen ﬁp’rinn -




Q5 e e B W & foy Tad 3ugam oRg #1 9T B

fedafm adaee___ fivea e
Ans 1. gem@
X2w
X 3. fE=gt
X 4 = mEe

Question ID : 65497836574
Status : Not Answered
Chosen Option : --

Q6 Ry ez BT s gl

g

Ans X1_W
o 2. 59

X 3. faumrg

X 4. 3

Question ID : 65497836575
Status : Not Answered
Chosen Option : --

Q.7 ‘gwrys ufea g T aweier 3 i T org gm-
Ans X 1 gifiz

X 2. arewifois

X 3. 3meEg

7 4. 3rfEs

Question ID : 65497836584
Status : Not Answered
Chosen Option : -

Q8 fg g are 1 & Wi A Y ol B AR 21 AR PR A, A DR A Y g
o A (1)\ v 3R ¥ (2)\ B B wmran (3)\ B gR 7§ (4)
Ans X 1.4
X 2.2

& 3.3
X 4.1

Question ID : 65497836568
Status : Not Answered
Chosen Option : --




Q9 fer wer ®Y WA & iy wad wgan Aoy &1 a9 #¥)

e s aemdy ____ %1
Ans X 1 zg
X 2. RR
i
X 4. figor

Q.10 By oz ¥ faeiw 2rez &1 waa B

Y
Ans X 1wt

X 2 3%
o 3. 3a
X 4 fovrsg

Q11 et o) BY % T+t wiedl BT Biforg

Ywifea 2z wE & T 1T 3fEa 2 wRenfia Hif
Ans X 1 3RW A
X 2. enifa
o 3. ganiy
X 4.9R R

Q12 g My are &1 @Y T Fra B ot P R &1 aR I R 7 &, & I R ¥ g
T 3T (1)\ gfgmrem B (2)\ wrg Bea § (3)\ B R T § (4)

Ans X 1.2
&23
x-3.1
X 4.4

Question ID : 65497836587
Status : Not Answered
Chosen Option : --

Question ID : 65497836572
Status : Not Answered
Chosen Option : --

Question ID : 65497836583
Status : Not Answered
Chosen Option : --

Question ID : 65497836570
Status : Not Answered
Chosen Option : --




Q13 Frmfafam wea ¥, faw Ty o fased ¥ A, 30 e 1 oaa & @ gea? @1 372l o svar g1

Ans

Q.14 o 2 ®Y WA & g T 3w e 1 aaa &1

Ans

Q.15

Ans

Q.16 {23 T averr ¥ Ywifera sier #Y wfdwenfia w0 & Ay wa@ sugew fawe 1o w1

Ans

% Hew B

X 1. 3@ g
X 2.y g

X 3. et g
o 4. agayd g

A B AR ITBEAGH B
X 1w
o 2.92n
X 3. ¢t
X 4 R

A T arerier & forg ves oz for)

i §G AHar 8y
 1.wda
X 2 faw
X3ga
X 4 35

T @ A T
X 1. 3ygAT-3r9AT
X 2. 3
o 3. 3t
X 4

Question ID : 65497836576
Status : Not Answered
Chosen Option : --

Question ID : 65497836582
Status : Not Answered
Chosen Option : --

Question ID : 65497836577
Status : Not Answered
Chosen Option : --

Question ID : 65497836581
Status : Not Answered
Chosen Option : --




Q17 fg my are ¥ Ywifea @ @) afavenfia & & fog v swge faew &1 aaa &Y ok @
werenfta & $ smaegwar 781 §, aY Reer it agena H sraegwar 78 ¢ &1 a7 w1

Ans

T ot Y 3iterd B A werT @
X 1. % 3ierd &t @ weR o B

X 2. {5t geeTTa S 3raLasar TEl 8l

X 3.6t 3iterd BT e weRT B
o 4. 3iterd B T WRIRIT B B

Q.18 o’ ®r yufaarsd §-

Ans

X 1aga
X 2. oft
o 3. fen

X 4. e

Q.19 wt adt arer orez BT T B

Ans

X 1. sy
X 2. syl
X 3.yfw
o 4. 3myfis

Q.20 fZy TR awrTier % fAT v orz difeRY

Ans

s s B g A g
X 1.3gw
X 2.3gd
X 3. 3@
o 4. it

Question ID :
Status :
Chosen Option :

65497836571
Not Answered

Question ID :
Status :
Chosen Option :

65497836586
Not Answered

Question ID :
Status :
Chosen Option :

65497836580
Not Answered

Question ID :
Status :
Chosen Option :

65497836573
Not Answered




Q.21

Ans

Comprehension:

g e marier ¥ 35w 2reg ger Ry e #1 v e et B wErar § fRaw woum W vl dE & A
T 3T [Faed &1 T |

379 gfdaer & rfdasier Sl § WRd T GRplae §a18 ald gU M IRERSgai 4 (1) gr
TR TE & ATHS A ANA-PRAN YA T (2) &1 wwg-wwd W 7@l ghiar, (3)
qUT T &6 THIT Bl ¥z, Foret wewl afqal A g g8l (4) _ 3rawar uHaETd |t T,
forrss Boraey g ga s afmaisrsfiaT (5) s g7 9% 2 ¢ W erT R § 5
I FER & feft ot wim ¥ wgsa & wgsa der g & T @ 0 YR vd Hedta ey 8 R E
TREITN & YR W I AT

SubQuestion No : 21
Trarier & feer T (1) 3 forg walfie swge erg Srm-
X 1. fafda
o 2.5
X 3. amenfda
X 4 OifSa

Question ID : 65497836589

Status : Not Answered

Chosen Option : --

Comprehension:

T g merier ¥ 358 erez wer R e #1 Rw g et B werar A faw v Wi wdE we S fav
e Iuga fdaed o = |

3y gfdera & afdsier Frat § wRa ve Tl ga1é Bl §¢ i ureafie ggi & (1) BT
T el b e T A PR N yf wd (2) ¥ wmawm wawi ghter, (3)
TAT AT 5 FBI BN R, Ot Wl afaedl B geg g€ (4) _ ewrar udET Wi T,
forTd waasy o o & afeal sTsfiad (5) 99Tl S99 8ld §¢ W R R & &
IRTGT HER & et it v ¥ v & W qem W & e A W G vd wrdia Hay T @ €

IR & HTUR W IW QST

SubQuestion No : 22

Q.22 rerier ¥ fiar wer (2) & oy waifties sugaw orz Brm-

Ans

X 1. gt
X 2. wgaeha
X 3. gad

4. 3EyuH

Question ID : 65497836590

Status : Not Answered

Chosen Option : --




Comprehension:

g e marier ¥ 35w 2reg ger Ry e #1 v e et B wErar § fRaw woum W vl dE & A
T 3T [Faed &1 T |

379 gfdaer & rfdasier Sl § WRd T GRplae §a18 ald gU M IRERSgai 4 (1) gr
TR TE & ATHS A ANA-PRAN YA T (2) &1 wwg-wwd W 7@l ghiar, (3)
qUT T &6 THIT Bl ¥z, Foret wewl afqal A g g8l (4) _ 3rawar uHaETd |t T,
forrss Boraey g ga s afmaisrsfiaT (5) s g7 9% 2 ¢ W erT R § 5
I FER & feft ot wim ¥ wgsa & wgsa der g & T @ 0 YR vd Hedta ey 8 R E
TREITN & YR W I AT

SubQuestion No : 23

Q.23 rerier ¥ fir wer (3) % foiry waiiftres sugaw oreg grm-

Ans

X lga
X 2. 7%
3916
X 4 3=

Question ID : 65497836591

Status : Not Answered

Chosen Option : --

Comprehension:

T g merier ¥ 358 erez wer R e #1 Rw g et B werar A faw v Wi wdE we S fav
e Iuga fdaed o = |

3y gfdera & afdsier Frat § wRa ve Tl ga1é Bl §¢ i ureafie ggi & (1) BT
T el b e T A PR N yf wd (2) ¥ wmawm wawi ghter, (3)
TAT AT 5 FBI BN R, Ot Wl afaedl B geg g€ (4) _ ewrar udET Wi T,
forTd waasy o o & afeal sTsfiad (5) 99Tl S99 8ld §¢ W R R & &
IRTGT HER & et it v ¥ v & W qem W & e A W G vd wrdia Hay T @ €

IR & HTUR W IW QST

SubQuestion No : 24

Q.24 rerier ¥ fiar e (4) & forg waifties sugaw orz grm-

Ans

X 1. spefuafRa
o 2. T
X 3.3
X 4. o

Question ID : 65497836592

Status : Not Answered

Chosen Option : --




Comprehension:
aq&n TUT FFY gAY QUM & @EAII  oH %Y % q
Uy ddh I 9G4 DY R

FHIEEE § DN 4 MA@ H o WPRed VIR ®Y ¥ §a
T & TG S M W) § TR g4 @
W™ B IR, TN THY o 3@ ST FET AT,
b B UGS g ol @ & T 39 990 g1d U BRI R &
TRIGH ER o 2Bl 1 T 97 b i o 7 2 o1 9 U YR U A Ul G G
TS MRRI ﬁﬁ\_ﬂl
SubQuestion No : 25
T IYF I Hpd qugd Yp3dug Gl
Ans X 1.9 dd Id
X294
o 3. 3 YT

X 4 T

Question ID : 65497836593
Status : Not Answered
Chosen Option : --
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